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1 MTACHOPT PABOYEM MPOI'PAMMBI JUCIHUILJIAHBI

HNHocTpaHHBI A3BIK B IPO(ecCHOHATBHOM AeATeIbHOCTH

Ha36aHue OUCYUNTTUHDL

1.1 Mecto y4eOHOH IMCHUILIMHBI B CTPYKTYpe OCHOBHOH NpodecCHOHAIbHOM
o0pa3oBaTe/;IbHOM MPOrPaAMMBbI - TYMAHUTAPHBIM U COLMAIBHO-3KOHOMUYECKUM ITUKIL.

1.2

I.Ie.m; H NJTAaHUPYEMBIC peE3yabTaTbl OCBOCHHUSA y‘l€6HOﬁ ANCIUIIJINHBI ]_[eJ'IB

y4eOHON JUCHUIUIMHBI — (POPMHUPOBAHUE 3HAHUN U YMeHH, cooTBeTcTBYomux OK 01,
OK 02, OK 04, OK 06, OK 09 &IOC CIIO mno cnenuaibHoctu 13.02.07
DJeKTpocHaOKeHHE (TI0 OTPacsiM).
TpebGoBaHus K pe3yjabTaTaM OCBOCHHS YUEOHOU TUCIUTIIINHBL:

Homep B pesysabTare n3yueHusi JMCHHMILIMHBI 00y4Yaromuecs
/MHaeKc Conepsxanue JOJIKHBI:
KOMIIeTeHIIUH
10 ®LOC KOMIIeTCHIIUH SHATE ——
(8110
OK 01 BriOupats ciocoOsl aKTyaJIbHbIN pacro3HaBaTh U pelaTh
pelieHus 3a1a4y poQecCUOHANIBHBIN U 3aJ1a4y MHOSI3bIYHBIX
npogeccuoHaIbHON COLIMAJIbHBIN KOHTEKCT; MEXJINYHOCTHBIX
JeSITeJIbBHOCTH OCHOBHbIE UICTOYHUKH KOMMYHHKAIH B
IIPUMEHUTEIIBLHO K uH(popMaLUK 1 pecypesl Ui | MPOoheCCHOHATBLHOM W/HITH
Pa3IMYHbIM KOHTEKCTaM peleHus 3a/1a4 ¥ mpo0sieM B | COLMaIbHOM KOHTEKCTE
po¢eCCHOHATIEHOM W/UITN
COLIMAJIBHOM KOHTEKCTE C
UCIIOJIb30BAHUEM
MHOCTPAHHOTIO SI3bIKa
OK 02 Mcnonb30BaTh CUCTEMHBIE | - IPUEMBI IOMCKA, aHAJIM3a | - ONPEJETSITh HEOOX0AUMBbIe
CpEJICTBA MIOUCKA, aHAJIW3a | U CTPYKTYPUPOBAHUS WCTOYHHUKHU HHPOPMALIUK Ha
U MHTEpIIpETALuN uHpOpPMaLIUU Ha MHOCTPaHHOM SI3BIKE;
nH(popMaluy U MHOCTPaHHOM $I3bIKE, TUTaHUPOBATH MTPOIIECC
UH(pOPMAIMOHHbIE HEOO0X0IUMOM 115t IIOUCKA; CTPYKTypUpPOBATh
TEXHOJIOTHH IS BBITIOJTHEHUSI 3a/1a4 MOJTy4aeMyto HH(POpMAIIHIO;
BBINOJIHEHUS 3a/1a4 npodeccuoOHaTbLHON BBIJIEIISITH HanOosee
npodeccroHanbHON JIEATEITIbHOCTH 3HAYUMYI0 UHPOPMAIHIO
JESITENIBHOCTH
OK 04 DddexkTrBHO OCHOBBI JESATEIHOCTH OpPraHN30BBIBATH PAOOTY

B3aMMOJIENCTBOBATH U
paboTaTh B KOJIJICKTUBE H
KOMaH/Ie

KOJUIEKTHBA, 0COOEHHOCTH
U TIPUEMBI
MCEKINYHOCTHOT' O
B3aMMOJICHCTBYS B
WHOSA3BIYHOM Cpesie

KOJUICKTHBA U KOMaH/bI,
B3aMMOJIECHCTBOBATH C
KOJUTIETaMH, PYKOBOJICTBOM
B XOJI€ HHOSI3bIYHOM
podecCUOHATEHON
JEATEIbHOCTH




OK 06

[IposiBnATH rpaXk1aHCKO-
MATPUOTUIECKYIO TIO3UITHIO,
JIEMOHCTPUPOBATH OCO3HAHHOE
MOBEIEHHE HA OCHOBE
TPaJAUIIMOHHBIX
00I1eYeT0BEYECKUX IEHHOCTEH,
B TOM YHCJIE C YIETOM
rapMOHHU3AIUH
MECXKHAIIMOHAJIBHBIX U
MEXPEIUTHO3HBIX OTHOIIICHHIH,
TIPAMEHSATH CTAaHIAPTHI

CYIIHOCTb I'Pa’KJaHCKO-
MaTPUOTUYECKOHN TTO3UIIUY;
TpaI[I/IL[I/IOHHbIe
0011[eU€eTOBEUECKHE
LIEHHOCTH

JEMOHCTPUPOBATH
TPaKIaHCKO-
IIATPUOTUUIECKYIO
MO3UILIHIO, TOBEICHNE Ha
OCHOBC TpaI[I/IL[I/IOHHBIX
00IIIeYEI0BEUECKUX
IEeHHOCTeH

OK 09

AHTUKOPPYHIIIMOHHOTO

IIOBCICHUA

ITonb3oBaTbes JIEKCUYECKUH U HEepEeBOIUTH (CO CIOBApEM)
npodeccroHaibHON rpaMMaTH4EeCKUI WHOCTPaHHBIE TEKCTHI
JOKyMEHTaluen Ha MUHHMYM, HEOOXOAUMBIN npogeccuoHaIbHON
roCyJJapCTBEHHOM U JUISL YTEHUS U IIepeBojia (CO | HampaBJIE€HHOCTH, B TOM
MHOCTPAHHOM SI3bIKax CJIOBapeM) HHOCTPAHHBIX YUCJIE€  MEXKIYyHapOIHBIE

TEKCTOB
npodeccuoHaNbHOMI
HaIpaBJIEHHOCTH,
BKJIFOYAIOLIUX
MEXIyHApOIHbIC
HOPMAaTHUBHO-TIPABOBbIE
JIOKYMEHTHI B aKThI B cpepe
UH(GOPMALIMOHHBIX
TEXHOJIOTHH;

MpaBujia NOCTPOCHUS
MPOCTHIX U CIIOKHBIX
MPEJI0KEHU M Ha
poeCCHOHATIBHBIC TEMBI

HOpMAaTHUBHO-IIPaBOBBIE
JOKYMEHTHI ¥ aKThl B
chepe mpodeccrnoHaTBHOU

ACATCIIBHOCTH
IMOHUMAaTb CMBICIT YCTHBIX
BBICKA3bIBaHUM Ha

HHOCTpAaHHOM  SA3BIKEC Ha
npodeccroHanbHbIE TEMBI,
CTPOUTH IPOCTBIC YCTHBIC
u MUCHbMEHHBIC
BbICKA3bIBAHU I Ha
WHOCTPAHHOM  SI3BIKE Ha
poeCCUOHAIBHBIC TEMBI




2 CTPYKTYPA U COJAEPKAHUE YYEBHOHU JUCIHUILJIAHBI

2.1 O0beM yueOHOM TUCHMILIMHBI U BUAbI Y4eOHOH padoThI

Buna yueOHoii padoThI O0bem yacon
1o BUAaM y4eOHOM
padoThbl

OO6mmii 00beM y4eOHOl HArPYy3KHU 185
Pabora 00yyanmmxcsi BO B3aMMOAEHCTBHY € NpenoxaBaTeaeM 170

B TOM YHCJIE:

IPAKTUYECKHUE 3aHSTUS 170
CamocTosiTeibHAasi padoTa CTyAeHTa 9
IIpomexyTouHas aTTecTanus B popme 3auera 6

2.2 TemaTu4eckui IJIaH U COAepP:KaHUE YUeOHOM TUCHUIIIMHBI

HNHocTpaHHBIH A3BIK B IPO(ecCHOHATBLHOM AeATeIbHOCTH

HAUMeHOB8aHue y‘t€6HOIZ ()uCZ{uil]lqul

Ounas ¢popma 00yueHust

HaumenoBanue Conep:kanue yueoOHoro marepuasa u popmol | O0be YpoBeHb
pa3/1esioB U TeM OpraHu3alnuu JAeATeIbLHOCTH 00yYar0IIUXCS M OCBOEHHS
4yacoB
1 2 3 4
CEMECTP 1
Tema 1 Coaep:xaHue y4eOHOro MaTepuaJia 10 penpoOAyKTUBHBII/
I am a student 1. Jlekcuueckuii MaTepHa IO TEME. POy KTUBHBIA
2. 'paMMaTHUECKUI MaTepUa:
- pa3psIbl CYyIIECTBUTEIBHBIX;
- MHO’KECTBEHHOE UHCJIO CYIIECTBUTEIBHBIX;
- IPUTSHKATEITBHBIN TAJICK CYIECTBUTEIBHBIX.
3. Pabora c Tekctom I am a student.
Tema 2 Coaep:xanue yueOHOro MaTepuaJia 10 PenpoTyKTHUBHBIH/
The concept of | 1. Jlekcuueckuit MaTepHa o TEME. MPOAYKTHUBHBIN
electricity 2. 'pammaTnueckuii MaTepuait:
- pa3psapl IpUjIaraTeIbHbIX;
- CTETEHU CPAaBHEHUS MpUIIaraTeIbHbIX;
- CPaBHHUTEJIbHBIE KOHCTPYKIIUU C COFO3aMH.
3. Pabota ¢ Tekcrom The concept of electricity.
Tema 3 Coaep:xaHue y4eOHOro MaTepuasia 10 pPEenpOayKTUBHBII/
Types of currents | 1. Jlekcudeckuit MaTepHa o TEME. MPOAYKTUBHBIN

2. 'pamMmaTHYeCcCKUi MaTepua:

- pa3psabl YHUCITUTENbHBIX;

- 0003HaueHNe BpeMeHHU, 0003HaUeHHUE /1aT;
- INYHBIE MECTOMMEHHMS;

- 00bEKTHBIE MECTOUMEHHS;

- IPUTSDKATEIIbHBIE MECTOUMEHUS;

- HEONpEeIeIICHHbIE MECTOMMEHHS.

3. Pabora ¢ Tekctom Types of currents.




Tema 4 Coaepixanue y4eOHOro MmarepuaJa 10 PenpoyKTHBHBIH/
Series circuits and | 1. Jlekcuueckuii MaTepHal MO TEMe. MIPOYKTHBHBIN
parallel circuits 2. 'paMMaTuveckuii MaTepua:
- BUJIOBPEMEHHbIE (POPMBI TJ1aroia;
- BpeMeHa rpynisl Simple;
- BpeMeHa rpymmsl Continuous;
- BpemeHa rpymimsl Perfect.
3. Pabora c tekctom Series Circuits and Parallel
Circuits.
CamocrosiTesbHass padora 3 IPOAYKTUBHBIN
Bcero 3a 1 cemectp 43
Cemectp 2
Tema 1 Coaepixanue yueOHOro MmaTepuaJia 6 penpoayKTUBHBII/
My specialty 1. Jlekcuueckuii MaTepra Mo TeMe. POy KTUBHBIN
2. I'pammaTnyeckuii MaTepua:
- BUJJOBpeMEHHBIe (hopMbI Tarosa (00o0uieHue).
3. Pabora ¢ Tekctom My specialty.
4. Muckyccus (no tuny «Kpyrisiii cton») : Why
do you think it is important for a modern
engineer to study a foreign language?
Tema 2 Coaeprxanue y4eOHOro MmaTepuaJia 6 PenpoTyKTHBHBIH/
Practical units in 1. Jlekcuueckuii MaTepua o Teme. POy KTUBHBIN
electrical 2. 'paMMaTudecKuii MaTepua:
engineering - Present Perfect vs Past Simple.
3. Pabota ¢ Tekcrom Practical Units.
Tema 3 Coaep:xaHue y4eOHOro MaTepuasa 6 penpoayKTUBHBII/
Meters 1. Jlexcuueckuii MaTepual o TeMeE. IIPOAYKTUBHBIN
2. 'paMmaTHyYeCKUi MaTepUal:
- CrtocoObI BeIpaykeHUs Oy AyIIETO.
3. Pabora c Tekctom Meters.
Tema 4 Coaepixanue yueOHOTro MaTepmuaJia 6 PEeTPOTyKTHBHBIH/
Electric cells 1. JIekcrueckuii MaTepual 1o Teme. NPOTYKTUBHBIN
2. I'pammaTnyeckuii MaTepuan:
- MojianbHbI€ TIaroisl.
3. Pabora ¢ tekctom Electric cells.
Tema S Conep:xanue y4eOHOro MaTepuasia 6 PenpoTyKTHUBHBIH/
Capacitors 1. Jlekcrueckuii MaTepHUaIl IO TEME. POy KTHUBHBIN
2. 'paMmMaTnyeckuii MaTepua:
- DKBUBAJICHTH MOAAIBHBIX TJIATOJIOB.
3. Pabora ¢ Tekctom Capacitors.
CamocrosiTesqibHasi padora. 2 MIPOIYKTUBHBIN
IToaroroBka k IpOMEKyTOYHOHN aTTECTALUH.
IIpomexyTounas arrecTanms (3a4er) 2
Bcero 3a 2 cemecTp 34




Cemectp 3

Tema 1 Coaep:xanue y4eOHOro MaTepuasia 9 PenpoyKTUBHBIN/
Academic mobility | 1. JIekcuueckuit MaTepHa mo Teme. NPOITYKTUBHBIN
2. 'pammaTHyUecKuii MaTepuan:
- BunoBpeMeHHbIe (hopMbI riaroJja.
CrtpanarenbHbIN 3aJ0T.
3. Pabota c Tekctom Academic mobility.
Tema 2 Coaepixanue yueOHOro MmaTepuaJia 9 penpoayKTUBHBII/
Batteries 1. JIexcuueckuil MaTepuai o TEME. IIPOAYKTUBHBIN
2. I'pammaTnyeckuii MaTepua:
- CornacoBaHue BpEMEH;
- KocBenHas peub.
3. Pabora c TekcToMm Batteries.
4. PoneBas urpa Buying a new storage battery.
Tema 3 Coaep:xaHue y4eOHOro MaTepuasa 9 penpoayKTUBHBII/
Conductors 1. Jlexcuueckuii MaTepual o TeMeE. IIPOYKTUBHBIN
2. I'pammaTnyeckuii MaTepua:
- Bonpocsl, mpock0bl B KOCBEHHOH peyH.
3. Pabora ¢ rekctom Conductors.
Tema 4 Coaep:xaHue y4eOHOro MaTepuasa 8 penpoayKTUBHBII/
Transformers 1. Jlekcuyeckuii MaTepHa Mo TeEMe. POy KTUBHBIN
2. 'paMmaTHyYeCKUi MaTepHa:
- YCIOBHBIE IPEIIOKECHUS.
3. Pabora ¢ Tekctom Transformers.
CamocrosiTesibHas padoTa 3 MIPOIYKTHUBHBIM
Bcero 3a 3 cemecTp 38
Cemectp 4
Tema 1 Copep:xxanue y4eOHOro Mmarepuasa 4 pPEenpOayKTUBHBIN/
My research work | 1. Jlekcuueckuii MmaTepual 1o Teme. MIPOTYKTUBHBIN
2. 'pamMmaTHYeCKU MaTepuat:
- Hemuunbie gpopmer riiarona. MapuaUTHB.
3. Pabota c Tekctom Gathering Information and
Materials
Tema 2 Coaeprxanue yueOHOro MmaTepuaJia 4 penpoayKTUBHBIIN/
The importance of | 1. Jlekcuueckuii MaTepual 1o Teme. POy KTUBHBIN
electricity 2. 'pamMmMaTHYeCKHI MaTepHal:

- ®opwmbl, pyHKITMU HTHOUHUTHBA.
3. Pabora c¢ Tekcrom The importance of
electricity.




Tema 3 Coaepixanue y4eOHOro MmarepuaJa 4 PenpoyKTHBHBIH/
Sources of electrical | 1. Jlekcuueckuit MaTepua mo Teme. MIPOYKTHBHBIN
energy 2. 'pamMaTuyeckuii MmaTepua:

- Henmmunbie popmel rnarona. [Mpudactue.

3. Pabota c rekctom Sources of electrical

energy.
Tema 4 Coaep:xanue y4eOHOro MaTepHuasia 4 PEenpoyKTUBHBIN/
Electromotive force | 1. Jlekcuueckuii MaTepHal MO TEME. POy KTHUBHBIN

2. 'paMmaTHyYeCKUi MaTepUal:

- Hennunelie popmel rinarona. [puvacrue.

®dopmbl, QyHKIIHUH.

3. Pabora c rexcrom Electromotive force.
Tema S Coaepixanue yueOHOro MmaTepuaJia 5) penpoayKTUBHBII/
Ohm’s law 1. JIexcuueckuii MaTepual o TEME. IIPOyKTUBHBIN

2. I'pammaTnyeckuii MaTepua:

- Henmnunsle gpopmel rnarona. I'epynauid.

3. Pabora ¢ rekctom Ohm’s law.

4. TIlpoext-mpe3enranust A  discovery

invention).
CamocrosiTesibHast pabora 1 POy KTHUBHBIN
IIpome:kyTouHasi arTecTanus (3a4er) 2
Bcero 3a 4 cemecTp 24
Cemectp 5
Tewma 1 Coneprxkanue yu4eOHOT0 MaTepuasa 10 penpoyKTUBHBIN/
Public speaking 1. JIekcudeckuii MaTepua 1o TeMe. MIPOYKTHBHBIN
and presentations 2. I'pammaTnyeckuii Mmatepua:

- Henmmunsie gpopmel rnarona. O6o0mienue.

3. Pabora ¢ TekcToM:

- Public speaking;

- How to use transitions effectively.
Tema 2 Conep:xxanue y4eOHOro Mmarepuasa 9 pPEenpOayKTUBHBII/
Transmission of 1. Jlekcuyeckuii MaTepHa Mo TeEMe. MIPOTYKTUBHBIN

power over long
distances

2. 'paMmaTHUYeCKU MaTepUa:

- CnoxHble WHQUHUTHBHBIE KOHCTPYKIIHH.

CrnoxxHoe CKa3yemMoce.

3. Pabora ¢ rekcrom Transmission of power

over long distances.




Tema 3 Coaepixanue y4eOHOro MmarepuaJa 9 PenpoyKTHBHBIH/
Electric motors 1. Jlekcuueckuii MaTepual Mo TeMe. MIPOYKTHBHBIN
2. 'paMmMaTuyeckuii MaTepua:
- CnoxHble WHOUHUTHUBHBIE KOHCTPYKIIHU.
CrnoxHoe nopJiexaiiee.
3. Pabota ¢ Texcrom Electric motors.
4. ITpoext-nipe3enrtanus Types of electric
motors and their application..
Bcero 3a 5 cemecTp 28
Cemectp 6
Tema 1 Coaepixanue yueOHOTro MaTepuaJia 8 penpoayKTUBHBII/
Writing essays on 1. Jlekcuueckuii MaTepua Mo TeMe. POy KTUBHBIN
scientific problems | 2. 'pamMaTHyeckuii MaTepuat:
- Ciio’kHOE CKa3zyeMoe ¢ IPUYacTHUEM.
3. Pabora c TekcTom:
- What is an essay?;
- Essay sample.
Tema 2 Coaepixanue yueOHOro MaTepuaJia 8 penpoayKTUBHBII/
Green energy 1. Jlekcuueckuii MmaTepual mo Teme. POy KTUBHBIN
2. I'pammaTnyeckuii MaTepua:
- CaMOCTOSITENbHBIN PUYACTHBIN 000POT.
- OGo0u1aroniee MOBTOPEHHUE
3. Pabora c Tekcrom Great interest in green
energy.
IIpoMe:kyTouHasi aTTecTanus (3a4er) 2
Bcero 3a 6 cemectp 18
BCET'O 185




3 YCJOBUS PEAJTU3ALMMY YYEBHOMN U CHUATIIAHBI

3.1 TpeOoBaHMA K MUHMMAJIbLHOMY MAaTEPUAIBLHO-TEXHHYECKOMY 00€eCIeYeHH IO
Peanuzanus yueOHOM AUCUMIUIMHBI TpeOyeT HaIMuusg YYEOHBIX ayauTOpHil (IJst
MIPOBEJICHUSI 3aHATUN BCEX BUJOB, NMPEIYCMOTPEHHBIX YUEOHBIM IJIAHOM, B TOM YHCIIE
IPYNIOBBIX W UHAUBUIAYAIbHBIX  KOHCYJbTallMd, TEKYyIIEr0  KOHTPOJIS |
NPOMEXKYTOUYHOM  aTTecTanuu), T[OMEUIEHUS JJisi  CaMOCTOSATEIbHOM  paboThl,
OCHAIl[CHHOI'O0  KOMITBIOTEPHOM TEXHUKOM C BO3MOXKHOCTBHIO MOJKIIOUEHHUS K
UH(POPMAITMOHHO-TEIEKOMMYHUKAIIMOHHOW ~ ceTn  «VHTepHeT» u  oOecnedeHueM
J0CTyNa B 3JEKTPOHHYIO0 MH(POPMAIIMOHHO-00pa30BaTeIbHYIO0 cpeay o0pa3oBaTelbHOIM
OpraHHU3aIIH.

OO6opynoBaHue: KOMIUIEKT y4yeOHOM MeOenu, pabouee MeCTO MpernojaBarens,
JIEMOHCTPALIMOHHOE MTEPEHOCHOE 000pyAoBaHUE (HOYTOYK, SKpaH, BUJICOMIPOEKTOD).
[Mporpammuoe obecnieuenue: Windows; LibreOffice; Google Chrome.

YdeOHbIe 3aHATHA IJI1 00YYAIOIMINXCS ¢ OTPAHMYEHHBIMA BO3MOXKHOCTSIMHU 370POBbSI U
WHBAIHUIOB TPOBOASTCA C YYETOM OCOOCHHOCTEH WX MCUXO(PHU3UYECKOTO Pa3BUTHSA,
WHIUBUYaJIbHBIX BO3MOKHOCTEH U COCTOSIHUSA 3/I0POBbSI.

3.2 UudopmanuonHoe odecnevyenne o0yueHust

Ilepeuenn pPeKOMeHyeMbIX yueOHBIX U31AHUI, HNuTepHeT-pecypcos,
AOMOJHUTEIbHOM JIUTEPATYPbI

3.2.1 OcHoBHas IUTEpaTypa

1. Mununa, O. I'. Basic Vocational English / ba3oBeiii npodeccroHanbHBIN
aHTTIMUCKUN s3bIK @ yuyeOHoe mocooue / O. I'. Mununa. — Mocksa; bepaun : J{upexr-
Memua, 2020. — 159 c¢. — Pexum pgocryma: mno mnognucke. — URL:
https://biblioclub.ru/index.php?page=book_view_red&book id=595465 (marta
obpamenus: 29.09.2022). — ISBN 978-5-4499-1303-6. — TekcT : 371I€KTPOHHBIM.
JlonosiHUTENIBLHASA JIMTEpPaATypAa:

2. I'ypeuu, B. B. IlpakThueckas rpamMMaTvKa aHTJIMMCKOTO S3bIKA: YIPaXHEHUS U
KOMMEHTapuu : ydebHoe nocodue : [12+] / B. B. I'ypeBuu. — 12-e u3n. — Mocksa :
OJIMHTA, 2017. — 292 c¢. — Pexum jgoctyma: mno mnoamnucke. — URL:
https://biblioclub.ru/index.php?page=book&i1d=103487 (mara obpameHus: 24.10.2022).
— ISBN 978-5-89349-464-8. — TeKCT : JICKTPOHHBIMH.

3. OpnoB, A. B. Aurnmiickuit s3sIk : YuebHOe nmocobue anst cryaentoB | kypca YI'CH
140000 “OnepreTka, HSHEPreTUYECKOE MAIMMHOCTPOCHHE U DJIEKTPOTEXHHUKA  /
Py610BckHii HHIYCTpHANbHBIN HHCTUTYT. — PybnoBck, 2013. — 79 c.

4. OpinoB, A. B. Aurnuiickuii s13bIk : YueOHoe nocodue nns cryaeHTos Il kypca YI'CH
140000 “OnHepreTuka, 3IHEPreTUYECKOE MAIIMHOCTPOCHHE U DJIEKTPOTEXHHKA™ /
Py6noBckuii nHIyCTpUanbHblil HHCTUTYT. — PyOnosck, 2013. — 60 c.

3.2.3 UHTepHeT-pecypcehl:

1. https://usefulenglish.ru/ - Useful English

2. https://www.homeenglish.ru/ - Aurimiickuii 361K O€CILIATHO M HE BBIXO U3 JIOMa.
YPpoKu 1 Marepuasbl 10 U3YUYECHHUIO aHTJIMHCKOTO sI3bIKa

3. http://www.langinfo.ru/index.php?sect_id=1630 - M3y4eHue aHTIUICKOTO OECIIaTHO
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4 KOHTPOJIb U1 OLIEHKA PE3YJIBbTATOB OCBOEHUSI YUEBHOM

JANCHUITJIMHBI

KOHTpOJIb N OLOCHKAa PC3yJIbTATOB OCBOCHUA yqe6H01”4 AUCHUIUIMHBI OCYIONCCTBIIACTCA
IpCroAaBaTrCjicM B IIPOLHCCCC IIPOBCACHHUA IIPAKTHYCCKUX BaHHTHﬁ, KOHTPOJIBHBIX

OIIPOCOB M BBIIIOJHCHHSA KOHTPOJIBHBIX pa60T.

PesyabTaThl 00yyeHus

DopMbI U METOAbI
KOHTPOJISl M OLleHKH
pe3yJabTaTOB 00yUeHHsI

3nameo

aKTyaJbHBIA MPO(PECCHOHATBHBIN U COLMANBHBIA KOHTEKCT; OCHOBHBIE
WCTOYHUKUA MHGOPMAIUU U PECYPCHI Ui PEIlIeHus 3aa4 U mpobiieM B
npoeCCHOHATFHOM H/HITH COIIMAIbHOM KOHTEKCTE C UCTIOIb30BaHUEM
uHoctpanHoro s3bika (OK-01)

NpUEMBbI TIOUCKA, aHAIN3a U CTPYKTYpUPOBaHUs HH(POpMAIMK HA
MHOCTPAHHOM $3bIKE, HEOOXOJUMOM I BBITIOJTHEHHS 33124
npodeccroHanbHoi aestenbHocTH(OK-02)

OCHOBBI JICATEIbHOCTH KOJIJIEKTUBA, OCOOEHHOCTH U MPUEMBI
MEKJIMYHOCTHOTO B3aUMOICHCTBHS B MHOsA3bIUHOM cpene (OK-04)
CYIIHOCTb IPaXKAAHCKO-MATPUOTHUECKON TO3HIINH;

TpaaMIMOHHbIe obIeuenoBeueckue renHoctu (OK-06)

JIEKCUYECKUI U TPaMMAaTUYECKUN MUHUMYM, HEOOXOAUMBIH JIJIsl YT€HUS
¥ TiepeBojia (Co coBapeM) HHOCTPAHHBIX TEKCTOB MPOPECCHOHATBHON
HaIpPaBJIEHHOCTH, BKIIFOYAIOLIUX MEXIyHAPOAHbIE HOPMATHUBHO-
MIPAaBOBBIC JOKYMEHTHI U aKThI B chepe nH(POPMAIIMOHHBIX TEXHOJIOTHIA;
IpaBWjia TMOCTPOCHUS TMPOCTHIX U  CIOXKHBIX MPEAJIOKEHUH Ha
npodeccronanbbie TeMbL(OK-09)

Onpoc Ha NpPaKTUYECKUX
3aHATUSAX.

Ananuz pe3yJIbTaTOB
HAOJIFOIEHUSI 3a
JESATEIbHOCTBIO CTYJIEHTOB
B IIPOLIECCE BBIITOJIHEHUS
YIPAXHEHUM W POJIEBBIX
UIp HA  MPAKTUUYECKUX
3aHATHUSAX.

3ayer.

Ymems

pacro3HaBaTh U peliaTh 3a1a4y HHOS3BIUHBIX MEXJINYHOCTHBIX
KOMMYHUKAIMH B TPOPECCHOHATFHOM H/HITH COIIMATbHOM KOHTEKCTE
(OK-01)

OTIpeNeNsITh He0OXOIMMbIE ICTOYHUKH HH(OpMAITNK Ha HHOCTPAaHHOM
A3bIKE; TUIAHUPOBATH MPOILIECC MOUCKA; CTPYKTYpUPOBATh MOTyYaeMyIo
nHbOPMaIIHIO; BBIIEIATh Hanbosee 3Haunmyto uadopmanuio (OK-02)
OpPraHU30BBIBATH PAOOTY KOJUIEKTHBA U KOMAaH/Ibl; B3aUMOAEHCTBOBATH C
KOJIJIETaMH, PYKOBOJICTBOM, KJINEHTAMH B X0J1€ HHOSI3BITHON
npodeccuoHanbHoOM aestenbHocTr (OK-04)

JIEMOHCTPUPOBATH T'PAXKTAHCKO-TATPHOTHIECKYIO TIO3UITUIO, TOBEICHHUE
Ha OCHOBE TPAIMIIMOHHBIX oOmeyenoBevyeckux nenHocreit (OK-06)
MEePEeBOIUTH (CO CIOBapeM) MHOCTPAHHBIE TEKCTHI MPOQecCHOHATHHOM
HaIpaBJICHHOCTH, B TOM YHUCIIE MEXyHAapOAHbIE HOPMAaTUBHO-TIPAaBOBBIE
JOKYMEHTBl M akThl B  cdepe NpopecCHOHATbHON JesTeNIbHOCTH;
MOHUMATh CMBIC]I YCTHBIX BBICKA3bIBAaHMH HAa MHOCTPAHHOM SI3bIKE Ha
npo¢eCcCHOHATBHBIC TEMBI;

CTPOMTH MPOCTHIE YCTHBIE U MHChMEHHbIE BHICKA3bIBAHUS HA
MHOCTPAHHOM si3bIke Ha npodeccronasbhbie TeMbl (OK-09)

Onpoc Ha MPaKTUYECKUX
3aHATUAX.

Amnanus pe3yNbTaToB
HaOJIIOICHUS 3a
JESITEIbHOCThIO CTYIEHTOB
B Hpouecce BBITIOJTHCHU A
YOPXHEHUH ¥ POJEBBIX
I/Il"p Ha HpaKTI/IquKI/IX
3aHATHIX.

3ager.
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Jlner akryanuszauuu padoueil nporpaMMbl IMCHHUIIJIMHBI

HaunmenoBanue Kadenpa- [Ipennoxenus Ilonnuce
JHCITATLTNHEL pa3paboTuuk 00 U3MEHEHNH 3aBEIYIOIIETO
PIIJ PIIA Kaderpoi/IpoToKoI
3acemanus Kadeapsl
1 2 3 4
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[Tpunoxenue A (oOsi3aTenbHOE)

MuHHCTEPCTBO HAyKU U BhIcIIero odpazoanus Poccuiickoit denepanuu
Py61oBckuii MHyCTpUaIbHBIN MHCTUTYT ((puirai) dheaepalbHOro rocyJapcTBEHHOTO
OIOXKETHOT'0 00pa30BaTEILHOIO YUPEKACHUS BBICIIET0 00pa3oBaHus «AJTaicKui
roCyAapCTBEHHbIM TeXxHU4YecKkui yHuepcuret uM. U. U. ITlonzyHnosa»
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IHACITIOPT

OOHJA OHEHOYHbBIX MATEPHUAJIOB 11O JIUCHUIIJIMHE

OI'CD.03 Huocmpannwiil A361K 8 NPOGhECcCUOHANbHOU 0esAmebHOCIU (AHSAUUCKULL)

HAaNMCHOBAHHUC TUCHHUILINHBI

Kourtpoaupyembie Kon Cnoco6 oneHnBaHusA OueHo4yHOE cpeICTBO
pa3aesbl JHCHUILTHHBI KOHTPOJHMPYeMoi
KOMIIEeTeHIINH
Cemectp 1 OK 01 Omnpoc Ha MPAKTUYECKUX | YIpaKHEHUs.
OK 02 3aHATUSAX. VYcTHsIif onpoc.
OK 04 Ananus pE3yNbTaTOB
OK 06 HaOMIONEHUS 32 [JESITENbHOCTHIO
OK 09 CTYZAEHTOB B npotiecce
BBIITOJIHEHUSI  yNPAXHEHUHA  Ha
MIPAaKTHUECKHUX 3aHSITHSX.
Cemectp 2 OK 01 Ompoc Ha MPaKTUYECKUX | YTIpaKHEHHUSI.
OK 02 3aHATHAX. VYeTHbli onpoc.
OK 04 Anamms pe3ynbTaToB | 3aJaHus IS
OK 06 HaONIONEHUsT 3a [ESITEJILHOCTBIO | TIPOMEKYTOYHOU
OK 09 CTYJIEHTOB B rpoliecce | aTTeCTallUU.
BBIIIOJIHEHUSI ~ YIPaXHEHUH Ha
MIPaKTHYECKHUX 3aHATUSX.
3auer
Cemectp 3 OK 01 Omnpoc Ha MPAKTUYECKUX | YIpaKHEHUs.
OK 02 3aHATHUAX. YcTHbIi onpoc.
OK 04 Amnanmus pe3ynbraroB | Poneas urpa.
OK 06 HAOMIOACHUS 3a JCSTEeIbHOCTHIO
OK 09 CTYAEHTOB B IIPOIIECCE DPOJICBBIX
UTP, BHIITOJHEHHUS YNPAXHEHUH
Ha MPAKTUYCCKUX 3aHATUAX.
Cemectp 4 OK 01 Ompoc Ha MPAaKTUYECKUX | YTIpaKHEHUS.
OK 02 3aHATHUAX. YcTHBI ompoc.
OK 04 Ananu3 pe3ynbTaToB | 3amaHus JUISL
OK 06 HaONIONEHUsT 3a [EsITEIbHOCTBIO | MPOMEKYTOYHOU
OK 09 CTYIEHTOB B mpoIecce | aTTecTaluy.
BBINOJIHEHUSI  yNPAXHEHUHA  Ha
MIPAKTHYECKHUX 3aHATUSX.
3auer
Cemectp 5 OK 01 Ompoc Ha MPaKTUYECKUX | YTpaKHEHUSI.
OK 02 3aHATHUAX. YerHbIi onpoc.
OK 04 Amnanus pesynbTatoB | Ponesas urpa.
OK 06 HaOMIONEHUST 3a JEsITEIbHOCTBIO
OK 09 CTYJIGHTOB B MpOLIECCE POJIEBBIX
WIp, BBIIOJIHEHUS YIPaKHEHUI
Ha MPAaKTHUECKHUX 3aHITUSX.
Cemectp 6 OK 01 Omnpoc Ha MPAKTUYECKUX | YIpaKHEHUs.
OK 02 3aHITHSIX. 3anaHus Juis
OK 04 Amnanus Pe3yIBTaTOB | MPOMEKYTOYHOM
OK 06 HAOJIOJIEHUST 3a JESATEIbHOCTHIO | aTTECTaIHH.
OK 09 CTYJICHTOB B mporiecce
BBIMOJIHEHUSI  yNPAXHEHUH  Ha
MIPaKTHYECKHUX 3aHATUSX.
3auer
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OIEHOYHBIE MATEPHAJIBI TEKYIIEI'O KOHTPOJIA YCIIEBAEMOCTH

| CEMECTP

Tema 1

Ilepeyens 3a1aHUM /151 KOHTPOJBLHOTO OIIPOCA 10 TeMe
KommnuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB IO IPaMMAaTHKeE

3ananue 1. Give the plural of the nouns listed below:

A.

dish, inch, toy, bus, city, knife, leaf, tomato, bath, family.
B.

child, mouse, goose, swine, foot, ox, fish.

C.

datum, radius, nucleus, memorandum, stratum.

3ananue 2. Give the singular of the nouns listed below:

A.

wifes, judges, boxes, plays, cities, heroes, chiefs, factories,
papers, countries.

B.

women, teeth, mice, children, firemen.

C.

theses, formulae, media, criteria.

3amanue 3. Translate into English:

OBIIbI, PPYKTBI, BOJIOCHI, BOPOTA, HOBOCTH, MTPOXOXKHE, HEBECTKH,
coJlep)KaHue, yCIeXH, TOBap, MaTeMaTHKa, OWIIbIP/, 3HAHUS, ICHbTH,
HEINPUATHOCTH, UCCIIEAOBAHUA, OI€XKIA, CONEPKAHUE, BECHI, 3apIuiara,
OKpamnHa, OYKH, CTATHCTUKA, CTICIIHS, PHIOBI, MaXMaThl, 0€IIhe TTOCTEILHOE.

3ananue 4. Choose the right answer:

1. The criteria for promotion ... clearly stated.

a) are b) is ¢) was d) has been

2. Her clothes ... very trendy and fashionable.

a) are b) is ¢) has been d) was

3. Your advice ... very timely.

a) were b) are c) is d) be

4. His ... of German ... very limited.

a) knowledges, is b) knowledge, are

¢) knowledges, are d) knowledge, is

5. The news ... very interesting.

a) is b) are ¢) be d) were being

6. The contents of the letter ... unexpected.

a) were b) are ¢) was d) have been

7. The scissors ... here a minute ago.

a) was b) are c) were d) is

8. The class ... working on their individual projects today.
a) is b) are ¢) to be d) is being

9. Statistics ... a science which ... with the collection, organization and



interpretation of numerical ... .

a) are, deal, datums b) are, deal, data

c) is, deals, datas d) is, deals, data

10. All Jane's money ... on food and rent.

a) go b) goes c) were going d) were gone

11. Supernatural ... are of great interest to many people.

a) phenomenons b) phenomenon

¢) phenomena d) phenomenas

12. The ... in the aquarium ... waiting for their daily feeding.
a) fishes, are b) fish, is c) fishes, is d) fish, are

13. Weeatalot ... and ... in summer.

a) fruit, vegetable b) fruit, vegetables

c) fruits, vegetables d) fruits, vegetable

14. The goods ... just arrived.

a) has b) is c) have d) are

15. His team ... for Italy and now the team ... hard for the coming
match.

a) plays, is training b) play, are training

c) plays, are training d) play, was training

3amaHus 1J1s1 KOHTPOJIS MIOHUMAHUSA TEKCTA
Read the text and answer the questions:
Why is studying at college different from school?
Do you believe that time management is an essential skill at college?
What are the main assessing methods at college?
What is the aim of a report?
In what way does a report differ from an essay?
What is a final year project at college?

I

Tema 2

Ilepeuyens 32 aHMH 1151 KOHTPOJBHOI'0 ONPOCA O TeMe
KommiaekT 33}13HI/II71 H KOHTPOJIbHBIX BOIIPOCOB 110 rPaMMAaTHUKeE

3anmanue 1. Write the degrees of comparison of the following adjectives:
cold, important, bad, warm, precise, early, hot, sensitive, happy,
little, many, full, few.

3anmanue 2. Read and translate the proverbs. Produce their Russian equivalents:
. Actions speak louder than words.

. Prevention is better than cure.

. The best doctors are Dr. Diet, Dr. Quiet and Dr. Merryman.

. Learning makes a good man better and a bad man worse.

. Of two evils, choose the least.

. Good-better-best. Never rest. Till “good” is “better”” and “better” is “best”.
. The difficult is done at once; the impossible takes a little longer.

. A man is as old as he feels, and a woman as old as she looks.

. It is better to be the best of a low family than the worst of a noble one.

10. A silent tongue and a true heart are the most admirable things on earth.

O© 00 NOoO Ol b W B
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3amanme 3. Choose the right answer:

1. He bought ... sports car out of all available in the market.

a) the expensivest b) expensive

¢) the most expensive d) most expensive

2. To study at university is ... than at school.

a) difficult b) more difficult ¢) difficulter d) more difficulter

3. We arrived ... than he expected.

a) earlier b) earliest c) early d) more earlier

4. She is a ... player than me.

a) best b) good c) better d) gooder

5. Moscow is one of the ... cities in Europe.

a) most beautiful b) beautiful c) more beautiful d) beautiful

6. Novosibirsk is much ... than Rubtsovsk.

a) more big b) the biggest c) most bigger d) bigger

7. That’s ... I can do for you.

a) less b) little c) as little d) the least

8. Because the family is very poor, the children have ... clothes.
a) few b) little c) a few d) a little

9. Today is ... than yesterday.

a) more sunny b) much sunnier

¢) more much sunnier d) much sunny

10. ... Opera House is ... building I’ve ever seen.

a) The Sydney, most spectacular b) The Sydney’s, most spectacular
¢) Sydney, the spectacularest d) Sydney’s, the most spectacular

3aaHus 1151 KOHTPOJIA MOHMMAHUS TEKCTA M0 CHEeNNATbHOCTH
Answer the following questions:

What has mankind been interested in for ages?

Why is it so uneasy to understand electrical phenomena?

What theory is used to identify the nature of electrical current?

What happens to an atom if an electron is taken away and vice versa?
How can electricity be defined?

ok~ wd e

Tema 3

Ilepevyens 3a1aHUM 1J151 KOHTPOJBHOIO ONPOCa
KommiaekT 33}13HI/II71 H KOHTPOJIbHBIX BOIIPOCOB 110 rPaMMaTHUKE

3amanue 1. Write answers to these problems:

1.23and 44 is ... .

2.22 times 8 is ... .

3.8 minus 20 is ... .

4. 65 divided by 13 is ... .

5. Add 10 and 6, multiply by 8, then subtract 40 and divide by 11. What have you got left?

3amanue 2. Answer these questions. Write your answers in words:
1. When were you born?
2. How much do you weigh?
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3. What is the number of the flat or the house where you live?

4. 1s that an odd or an even number?

5. What is the approximate population of your town?

6. What is the population of the Russian Federation?

7. How far is it from your place to Moscow?

8. How much is a scholarship at your Institute?

9. Do you travel first class?

10. M. Lermontov was born in 1814 and killed in 1841, wasn’t he?

3amanme 3. Write these numbers and dates:
two thousand fifteen, nineteen fifty-two, eighteen hundred five, seventeen forty-six, the third, twenty-one, three
million six hundred, thirty thousand two hundred and forty-nine.

3ananue 4. Translate into English:
CTO IBaJLATh MSITh KapaHJalllei, TpUcTa COpoK pyOiel, CTO IAThAECAT AEBATH THICSY XKHUTENEH, TBECTH
MWIJTHOHOB KBaJIpaTHBIX METpoB, 20 okTs10psa 1814 roga, 1 centsadps, 12 urons 1993 roxa.

3anmanue 5. Read and translate the sentences. Comment on the words in bold type:
. Just between you and me, it is top secret.

. He wanted her to go to the cinema with him.

. Who is there? — It is | (me).

. I don’t want any partners. I want this business to really be mine.
. Is there any place for me in this heart of yours, Jane?

. The responsibility is ours.

. Will you share your point of view with them?

. The future is hers, don’t let them take it from her.

. Everything | have is yours.

10. Theirs was a true love story. It was a perfect match.

© 0o N O Ol WN P

3ananue 6. Insert pronouns and underline the words which they replace:
1. The fax has been received. ... is on your desk.

2. Who told him the news? — Not ... .

3. Who is that? — ... is my sister. She works here.

4. — Helen has had a baby. —Is ... a boy or a girl?

5. The offer we made solved her problems as well as ... .

6. Please take these food scraps and give ... to the dog.

7. ... is an informational culture. We worship information.

8. I have a few cars, but I really don’t need ... .

9. Bob and I smiled at each other. ... smile was a affectionate as ... .
10. Maggie has got into a mess again! I sure wouldn’t want to be ... tonight.

3anmanue 7. Read and translate the sentences. Comment on the use of pronouns:
. This is a new dictionary.

. That is my life.

. That was not my idea.

. That was a good time.

. Can you see those men?

. Who are those women?

. This is a sheep and that is a deer.

. These are golden fish.

00O NO Ol &~ WDN -
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9. Those years were lucky ones.
10. We’ll never forget those years.
11. Give me these pears, please.

3ananue 8. Use the right form of the pronouns this or that:
. ... shoes are of the best quality.

. I’1l sign all the papers ... morning.

. We can meet at 10.30. — ... will be fine.

. ... way, sir”.

. The prices ... days are absolutely astronomical.

. ... dress we saw in the shop window was from Paris.

. People were helpless against nature in ... ages.

. ... pictures remind me of you, especially ... one.

. ... was a wrong thing to do.

O 0 N N D A W~

10. ... particular students are extremely bright.

3amanme 9. Replace the words in bold type with objective pronouns:
. He knows this girl.

. They work with (1).

. We met this man in the dining room.

. | often see the students here.

. 'You know (we).

. We speak to these girls sometimes.

. Your friend keeps his books on the shelf.
. | read this newspaper in the evening.

. We write these exercises at home.

10. They help (we) to learn the language.
11. We showed the boy some pictures.

12. He tells the students about the news.

O© 00 NOoO O WD -

3agaHus 1151 KOHTPOJIA NOHUMAHUS TEKCTA M0 CelUuaaIbHOCTH
Read the text and answer the following questions:

What is current?

What types of currents do you know?

When does a direct current flow?

What type of current is called an alternating current?
What type of current is called a direct current?

o bk~ wnd e

Tema 4

Ilepeuyensb 3a1aHNi 1151 KOHTPOJBHOI'O OIPOCA
KoMIuiekT 3ajaHiii M1 KOHTPOJILHBIX BOIIPOCOB 110 TPaMMAaTHKe

3aganue 1. Comment on the use of the Present Indefinite:
1. Wisdom comes with age.

2. Moscow is the capital of the Russian Federation.

3. Students attend a lot of lectures during each term.

4. She thinks that English Grammar is not easy.
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5. Every generation has its way.

6. | read local papers every week.

7. My mother doesn’t like it when we sit up late.

8. The beauty of the Internet is that you can get virtually anything that your mind requires.

3amanne 2. Use the right form of the verbs in brackets:

1. My grandmother (be) very old, but she (hear, see and understand)
everything quite well.

2. What he (do) for a living?

3. We (be) first-year students.

4. Time (heal) all wounds.

5. An apple a day (keep) the doctor away.

6. A good wife (make) a good husband.

3ananue 3. Read and translate the following sentences. Explain the use of the
Present Continuous/Progressive:

1. Ann is having lunch in the canteen at the moment.

2. Family life is changing rapidly.

3. I can’t understand what you are driving at.

4. John plays tennis every day. Now he is playing tennis with Mary.

5. Why don’t you believe me? I am telling the truth.

6. In my native town I live in a cottage. Here, in London, | am staying in a hotel.
7. Look! The sun is rising.

3ananue 4. Use the right form of the verb in brackets:

1. We still can’t understand what he (talk) about.

2. Today many countries (face) economic and political problems.
3. We not (get) younger with the passing of time.

4. Hello, is that him you (look) for?

5. You (look) terrible, Jim. What’s the matter?

6. It is so urgent, that’s why I (ask) you to help me.

7. What you (do) now? I (play) tennis.

3aganue 5. Read and translate the following sentences. Explain the use of the Present Perfect:

1. The production of food stuffs has greatly increased in Altai Region recently.

2. Russian scientists have discovered many secrets of nature.

3. Have the achievements of our science helped to raise the living standards of the people?
4. | have not been to Great Britain yet.

5. This week the instructor has not permitted us to climb that mountain.

6. Have you ever seen a ghost?

7. The country has made enormous progress lately. The President has done so much good.

3amanme 6. Use the right form of the verbs in brackets:

1. He (be) my friend for thirty years and still is loyal, devoted, staunch and wise.
2. Where you (be) all this time? | (miss) you terribly.

3. Life not (be) kind to me.

4. People not (change) much over the centuries.

5. You (hear) the latest news?

6. | never (see) her before.
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3amanme 7. Form the Past Indefinite/Simple of the following verbs:
to find, to get, to give, to read, to begin, to mark, to know, to make, to speak, to spend, to see, to publish, to
keep, to print, to think.

3amanne 8. Make the following sentences interrogative and then negative:
1. You visited your friend last week.

2. The newspaper came out yesterday.

3. She asked her brother about it.

4. We went to Moscow two weeks ago.

5. They knew about the meeting.

6. We discussed that issue the other day.

3anmanme 9. Comment on the use of the Past Continuous/Progressive in the

following sentences:

1. To have a frank talk | asked him what he was doing in London.

2. When she came back to the office, the manager was still studying the Draft Contract.

3. Summer was slipping away, day by day.

4. When | entered a Pizza Hut, all around me people were eating pizzas the size of bus wheels.
5. Maxim’s jaw dropped, he was unable to absorb the things he was hearing.

6. Diana and I were sitting in the library on Sunday morning, reading the newspapers.

3anmanue 10.. Use the right form of the verbs in brackets:

1. What you (do) when | (call) you? You (sleep) or what?

2. She looked out of the window and saw that the children (return) slowly from school.

3. The young couple next to me (discuss) their plans for summer vacation — where to go to.

4. When we (meet) for the first time, she (work) as a waitress in a café.

5. We (have) a very exciting holiday. We (play) tennis, (visit) friends, the children (swim) and (sunbathe).
6. What you (do) at 7 o’clock yesterday?

7. While my mother (knit) mittens, | (do) my homework.

3amanme 11.. Comment on the use of the Past Perfect in the following sentences:

1. We had discussed the news and were now thinking about it.

2. It turned out that Dick was ill and he had been ill for a fortnight.

3. No sooner had he opened the door than the children rushed to meet him.

4. Hardly had I turned on the television, when | heard shocking news.

5. He learnt that they had been friends for many years.

6. When | came back home, my family had already had dinner and were watching television.

3anmanue 12. Use the right form of the verbs in brackets:

1. Tom (return) from the cinema by five o’clock.

2. He (think) that he (lose) the money.

3. The prisoner (spend) almost a month digging a tunnel before the
guards (discover) it.

4. John and Pamela were the only family she ever (have).

5. Ann (tell) me that she (see) an interesting film.

6. Before we (come) to the station, the train already (leave).

7. 1 (know) that my friend not yet (come).



3anmanue 13. Form the future form of the following sentences:
1. I agree with you.

2. He welcomes your proposal.

3. They need her help.

4. My friends offer their services.

5. We work together.

3aaHus 1151 KOHTPOJIA MOHMMAHUS TEKCTA M0 CHEeNNATbHOCTH
Read the text and answer the following questions:

What type of circuit has the main line and parallel branches?

What type of circuit is used in order to have the same value of current in all the elements?
What type of circuit is used in order to have the same value of voltage in all the elements?
What does a trouble in the main line result in?

What does a trouble in a branch result in?

What does no current in a series circuit result from?

What is the difference between series and parallel circuits?

No g Mo
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IlepeyeHs 3a1aHUM J1JIs1 KOHTPOJIBHOIO OIIPOCa
KommiaekT 33}131—[1/1171 H KOHTPOJIbHBIX BOIIPOCOB 110 rPaMMaTHUKeE

3ananue 1. Choose the correct answer:

1. Bill ... hockey this season; he wants to devote much more time on
his studies.

a) doesn’t play b) hasn’t been playing

¢) isn’t playing d) hasn’t played

2. How long ... you ... this car?

a) have, had b) do, have c) are, have d) are, having

3. Andrew is a mechanical engineer; he ... to the opening of every industrial exhibition in the city.

a) is going b) has gone c) has been going d) goes

4.1 am tired. We ... for more than an hour. Let’s stop and rest for a while.
a) have worked b) have been working c) are working d) work

5. We ... two matches so far this morning and we ... the third yet.

a) play, don’t finish

b) have played, haven’t finished

c) are playing, haven’t finished

d) have been playing, haven’t finished

6. Why ... ?

a) the girls are crying b) are crying the girls

c) the girls crying d) are the girls crying

7. He ... to India.

a) often has been b) has been often c) has often been d) is often

8. The government is worried because the number of people without jobs ... .
a) is increasing b) had increased
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¢) has been increasing d) increases

9. Alina, my group mate, has a TV set, but she ... it very often.

a) hasn’t used b) hasn’t been using

¢) isn’t using d) doesn’t use

10. Who ... you this dictionary?

a) bought b) has bought ¢) had bought d) has been buying

11. My friend graduated from the Institute in 2014. He ... at a factory since then.
a) works b) is working c¢) has been working d) has worked

12.1 ... local papers from time to time.

a) am reading b) read c) have been reading d) have read

13. You are the tenth patient that I ... for this disease.

a) treat b) have been treated

c) have treated d) have been treated

14.1... “To have and have not”. The book is very interesting and I advice you to read it.
a) read b) am reading c) have read d) readed

15. Recently I ... to the Drama Theatre.

a) go to b) am going to ¢) have been to d) has been to

3anmaunne 2. Choose the correct answer:

1. While father ... a newspaper, mother ... lunch in the kitchen.
a) read, has been cooking b) was reading, cooked

¢) readed, was cooking d) was reading, was cooking

2. What ... you ... the whole evening?

a) did, discuss b) were, discussing

¢) had, discussed d) had, been discussing

3.1t ... for a long time, when we ... home.

a) had been snowing, left b) was snowing, left

¢) snowed, were leaving d) snowed, had left

4. He ... all of the computer games and ... to do something different.
a) had been playing, wanted b) played, wants

¢) had played, wanted d) had played, had been wanting

5.1... my uncle until he ... us last year.

a) hadn’t met, visited b) didn’t meet, had visited

¢) didn’t meet, visited d) hadn’t met, had visited

6. This time last year I ... across Italy.

a) traveled b) was traveling

¢) had traveled d) had been traveling

7. By the time the Browns ... home, the kitchen ... .

a) returned, had painted b) had returned, was painted

¢) had returned, was being painted d) returned, had been painted
8. My parents ... a new car last week.

a) have bought b) were buying c) bought d) had bought

9. I can hardly remember it. It ... long ago.

a) was happening b) happened

¢) had happened d) had been happening

10. The engineer ... the machine tool which we ... for several hours.
a) had examined, were testing b) examined, had been testing

) examined, were testing d) examined, tested

11. In 1969 people ... on the lunar surface for the first time.

a) was walking b) had been walking



¢) had walked d) walked

12. Both boys were very tired, they ... football for two hours.
a) were playing b) played c) had been playing d) had played
13.1... Steve when we ... in Oxford.

a) have met, studied b) met, were studying

c) had met, had studied d) met, had been studying

14. The war film we ... yesterday ... me very much.

a) watched, impressed

b) were watching, had impressed

C) were watching, was impressive

d) have watched, has impressed

3amanue 3. Choose the correct answer:

1. I don’t know what he thinks about it, but I ... him.

a) am asking b) will have asked c) will ask d) will be asking

2. Jason ... Russian for two years before he leaves Russia.

a) will learn b) will have been learning

c) will have learnt d) will be learning

3. She is spending her pocket money very quickly. So, by the end of the week she
a) will have spent b) will spend

¢) will be spending d) will have been spending

4. Mary ... the house before her husband comes home.

a) won’t have left b) won’t be leaving

c) won’t have been leaving d) won’t leave

5. I will be back soon. I think you ... the leading article by the time I come.
a) will have been finishing b) will finish

c¢) will have finished d) will be finishing

6. According to the weather forecast it ... tomorrow all day long.

a) will snow b) will be snowing

¢) will have been snowing d) will have snowed

7. You can’t see this film on TV tonight, they ... it only next Sunday.
a) show b) will be showing c) will show d) are showing

8. Itis not clear if the weather ... for the better, and we want to know if
our plane will be late.

a) will be changing b) will have changed

c) will change d) changes

9. By the first of December this year I ... here for fifteen years already.
a) will be working b) will work

c) will have worked d) will have been working

10. By the time Mother comes home Bob ... all the cookies.

a) will have eaten b) will be eating

c) will eat d) will have been eating

11. The house ... for two hours when firefighters finally arrive.

a) is burning b) will have been burning

c¢) will be burning d) will have burnt

12. She is in the country now and she ... there for another week.

a) will stay b) will have been staying

c¢) will be staying d) will have stayed

13. They ... all the problems by the end of the meeting I am afraid.

a) won’t be settling b) won’t settle

... all of it.
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c) aren’t settling d) won’t have settled

14. This time next week we ... in Africa.

a) will hunt b) are hunting

¢) will be hunting d) will have been hunting

15. When Jerry enters a Medical school he ... Chemistry for more than
four years.

a) will have been studying b) will study

¢) will be studying d) will have studied

33)13}[1/[51 AJIA KOHTPOJIA MOHUMAaHHUA TEKCTA

Answer the following questions:

Where do you study?

What are you going to become?

Why does your profession play a very important role in our society?

What competencies should a person have to make a good expert in the field?
Where do the graduates of your college usually work?

a bk~ wbdE

Tema 2

IlepevyeHs 3a1aHUM 1JIs1 KOHTPOJIBHOTO OIIPOCA
KommiaekT 33}131—[1/1171 H KOHTPOJIbHBIX BOIIPOCOB 110 r'PaMMAaTHKeE

3amanwme 1. Form the Past Indefinite/Simple of the following verbs:
to find, to get, to give, to read, to begin, to mark, to know, to make, to speak, to spend, to see, to publish, to
keep, to print, to think.

3ananue 2. Make the following sentences interrogative and then negative:
1. You visited your friend last week.

2. The newspaper came out yesterday.

3. She asked her brother about it.

4. We went to Moscow two weeks ago.

5. They knew about the meeting.

6. We discussed that issue the other day.

3anmanue 3. Form Participle II (V3) of the following Verbs:
to test, to spend, to buy, to feel, to sell, to report, to say, to visit, to
speak, to establish, to eat, to defend, to take, to give, to sleep, to ask.

3ananue 4. Read and translate the following sentences. Explain the use of the Present Perfect:
1. The production of food has greatly increased in the Altai Region recently.

2. Russian scientists have discovered many secrets of nature.

3. Have the achievements of our science helped to raise the living standards of the people?

4. | have not been to Great Britain yet.

5. This week the instructor has not permitted us to climb that mountain.

6. Have you ever seen a ghost?

7. The country has made enormous progress lately. The President has done so much good.
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3amanwme 5. Choose the right answer:

1. He ... his job last month and since then he ... out of work.
a) lost, has been b) lost, was c) lost, had been d) had lost, was
2. He ... some money two weeks ago. But I’m afraid he already ... it all.
a) has earned, has spent b) earned, spent

¢) had earned, had spent d) earned, has spent

3. John ... just a very interesting article but Ann ... it yesterday.
a) has read, had read b) has read, read

c) had read, has read d) had read, had read

4. We haven’t seen this film ... and as to Jane, she saw it ... .
a) already, just now b) yet, already

c) yet, last month d) last month, yet

5. Have you read an economic article ... ?

a) already b) just c) yet d) by

6. Who ... the novel “Gone with the wind”?

a) did write b) wrote c) writes d) writting

7. You have never been to Great Britain, ... ?

a) have you b) haven’t you c) hasn’t you d) having you

8. Who ... Mary to find a new job? John did.

a) did help b) does help ¢) has helped d) helped

9. Have you written a report ... ? — Yes, I ... it two days ago.
a) yet, wrote b) just, have written

c) still, was writing d) already, has wrote

10. Last year she ... in Paris and this year she ... ... to Madrid.
a) has been, was b) was, had been ¢) was, has been d) was, was
11.He ... ... yesterday morning. I ... just ... about it.

a) doesn’t come, learnt b) didn’t come, have learnt

¢) hasn’t come, have leant

3aganusi AJ151 KOHTPOJIS MOHMMAHUS TEKCTA MO CNeNHATbHOCTH
Answer the following questions:

How can an electrical current be defined?

What pushes current around a circuit?

What is an ampere? Whom is it named after?
What is a volt? Whom is it named after?

What is an ohm? Whom is it named after?

What is a watt? Whom is it named after?

How can you get one watt?

What equation is used to demonstrate Ohm’s law?

O N O~ wWwDdRE

Tema 3

IlepeuyeHsb 3a1aHMi 1J151 KOHTPOJBLHOIO ONPOCA
KoMIuiekT 3ajaHiii 1 KOHTPOJILHBIX BOIIPOCOB 110 TPAMMAaTHKe

3amanme 1. Choose the right answer:
1. I can’t see you Tuesday afternoon. I ... our London branch.



a) visit b) am visiting c) will visit d) is going to visit

2. You will pay back, as soon as you. ... a new job.

a) will get b) are getting c) get d) will be getting

3. You plane for Moscow ... at 8 p.m.

a) is leaving b) leaves c) have left d) had left at

4. What ... when you ... the university?

a) do you do, leave b) will you be doing, left

c) are going do, leave

5. They ... to a new flat next January.

a) will move b) have moved c) are moving d) will have moved
6. If it ... , we won’t go to the park.

a) will rain b) has rained c) rains d) will be raining

7. According to this timetable the bus ... at 10 a.m.

a) is arriving b) arrives c) will arrive d) has been arriving
8.1... Nick tonight, so I can give him your message.

a) am seeing b) see ¢) shall see d) had seen

9. We ... to have a good rest in January if we ... our winter exams.
a) be going, will pass b) will be going, will pass

C) are going, pass

10. The international trade fair ... on 17 December and ... on 12 June.

a) opens, finishes b) will open, will finish
c) is opening, will finish

3amanwme 2. Choose the right answer:

1. Ifhe ... to our party, we ... very glad.

a) comes, shall be b) will come, will be

c) comes, are d) will come, shall be

2. The head of the administration says that the wages ... in 2015.
a) is doubling b) will double c) doubles d) has doubled

3. We ... to the theatre tonight.

a) go b) will go ¢) will have gone d) are going

4. We ... it tomorrow if he ... in the presidential election or not.
a) will learn, wins b) learn, will win

c¢) will learn, will win d) will learn, will be winning

5. From 1 till 7 September our town ... its annual cultural festival.
a) hold b) will be holding

c¢) will hold d) will have been holding

6. Quick! Give me a lift, I ... late again.

a) will be b) am going to be c) being late d) have been

7. The term ... on the 25th of June.

a) will finish b) will be finishing

c) finishes d) will have finished

8. We ... lunch with his parents on Sunday.

a) are going to have b) will have ¢) have d) are having

9. What time ... the train ... at the station?

a) does arrive b) arrives c) will arrive d) is arriving

10. His parents will be upset ... .

a) till he won’t pass his exams b) if he doesn’t pass his exams

c¢) unless he will pass his exams d) unless he doesn’t pass his exams
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3anaHus AJ151 KOHTPOJIA MOHMMAHUS TEKCTA MO CHEeNNATbHOCTH
Answer the following questions:

What instrument is used to measure voltage?

What instrument is used to measure current?

What instrument is used to measure resistance?

How many terminals has a meter?

How should an ammeter be connected with other devices in a circuit?
How must the voltmeter be connected with the load to be measured?
Must electrical power be disconnected when using an ohmmeter?

N o g Mo

Tema 4

IlepeyeHsb 3a1aHUM 1JIs1 KOHTPOJIBHOIO OIIPOCa
KommuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB 0 I'PaMMAaTHKe

3anmaunune 1. Translate into Russian:

. | must speak to you about my work.

. My friend can do this work in a day or two.

. May | ask you to repeat your question?

. You should defend your point of view.

. They couldn’t open the drawer in my desk as it was struck.

. A liar ought to have a good memory.

. Molly hesitated. Ought she to accept this present from a stranger?
. The report says that the country should think twice before joining the European market.
. David cannot do the work.

10. Fashions may be changing, but style remains.

O 0O ~NOoO hn D WwN PR

3ananme 2. Make these sentences negative and interrogative:
1. She ought to leave home immediately.

2. Your friends can wait for you.

3. We must play football tomorrow.

4. He should place an order for consumer goods.

5. He may suggest a realistic plan.

3amanue 3. Translate into English:

. Ts1 ymeenis miaBats?

. MokHO MHE B35Th TBOH BeJIOCHUIIE?

. TBI TOJDKEH MPOYUTATH CTATHIO KO BTOPHUKY.
. lloBTOpUTH?

. Bam cnenyer 3akoHYHTH 3Ty padoTy.

. 51 HOIKEH TOCMOTPETH STOT PHIBM.

. OH He cMOT MOHSTH 3TOT PaCcCcKas.

. DTO JOIHKHO OBITH HHTEPECHO JJIs HAC.

O 0 3 N L A W N —

. Bam He Hy)HO OecITOKOUTHCS 00 ITOM.
10. Bel MoskeTe 00paThbest Ty/1a OE3A0M.
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3aganusi AJ1s1 KOHTPOJIS MOHMMAHUS TEKCTA MO CNeNHATbHOCTH
Answer the following questions:

What is used to produce and supply electric energy?

Which elements does a cell consist of?

What is the function of the terminals?

How must the cells be connected in order to increase the voltage output?
How must the cells be connected in order to increase the current output?

o bk~ wh e

Tema 5§

IlepeyeHsb 3a1aHUM /151 KOHTPOJIBHOIO OIIPOCa
KommiaekT 33}131—[1/1171 H KOHTPOJIbHBIX BOIIPOCOB 110 rPaMMaTHUKE

3amanme 1. Choose the right answer:

1. Bicket ... sell pencils because he had no other means to earn a living.
a) must to b) had to c) had d) was

2. On the next day she ... to come at half past two.

a) must b) had to c) was able to d) was

3. I hope you will ... to consider our papers next week.

a) be b) be able c) are able d) are allowed

4. But he ... to finish history.

a) couldn’t b) must not ¢) was not allowed d) can be allowed

5. Economics ... to have the closets connection with economy.
a) is b) are ¢) must d) had to

6. It is clear to anyone that that some changes will ... to be made.
a) has b) are c) have d) can

7. We ... to do that work.

a) must b) were unable ¢) unable d) could not

8.1... to have two fillings when I went to the dentist last week.
a) has b) have c) had d) should

9. They ... to see the garden through a gap in hedge.

a) were able b) was able ¢) might d) must

10. We ... work tomorrow — it’s a holiday.

a) must not to b) don’t have to ¢) will not to

3ananue 2. Translate into Russian:

. He got up early yesterday as he had to go to the railway station.

. Our plan will have to be changed if the director doesn’t approve of it.
. They will be able to start at once.

. The experiment is to be conducted at 5 o’clock.

. You are to tell us about your plan.

. The students will not be allowed to use dictionaries at the English examination.
. You’ll have to see a friend of mine who is an actor.

. When Andrew is eighteen he will be allowed to drive a car.

. You will not be able to see him before Sunday.

10. We shall be allowed to go home earlier, if we pass a driving test.

© 00 3 O O b W N P
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3amanwme 3. Use the right form of the verb in brackets:

. Tomorrow we (oyokHBI) to meet our relatives from Moscow.

. I (momxken 0b11) to do it because there was no other way out.

. We (1e cmoxxeM) to consider all those problems today.

. Will she (6yzer mo3BoseHo) to use this method in her research?

. They (mpumwiocs) to stay here for a few days more.

. I don’t know if the students (cmoryT) to handle the new equipment.
. The agreement (1omxHO OBITE) to be fulfilled.

. I think I (cmory) to come tomorrow.

O 0 3 O U1 &~ W N~

. She (paspemrar) to leave hospital next week.
10. We (no3Boast) to view the new collection.

3ananus AJ51 KOHTPOJIA MOHMMAHUS TEKCTA MO CHeNHATbHOCTH
Answer the following questions:

What is one of the main elements of the circuit?

What is the purpose of a capacitor?

What is the function of a capacitor?

What effects the capacity of a capacitor?

How does a fixed capacitor differ from a variable one?
How is the capacity of a capacitor regulated?

What insulators is a variable capacitor made up of?
When should a capacitor be replaced?

N Ok wWwDd R

I CEMECTP
Tema 1

IlepevyeHs 3a1aHUM 1JIs1 KOHTPOJIBHOTO ONPOCA
KoMIuiekT 3ajaHiii 1 KOHTPOJILHBIX BOIIPOCOB 110 TPAMMAaTHKe

3amanwme 1. Choose the right translation into Russian:
1. They were told that ...

a) Onwu ckasanu, 4To ... b) M ckazanw, 4to ...

) Im roBopsT, uto ... d) OHE COOOUIHIH, YTO ...
2. The passengers wanted to be informed about ...
a) [Taccaxupbl XOTEIH COOOLIHTH ...

b) Maccaxxupam xoTesnu cOOOIIUT ...

¢) ITaccaxxupsl XoTeNH, 9TOOBI UM COOOIITIIIH ...
d) Maccaxxupam xoTesnoch COOOUIUTS ...

3. The conditions are provided for ...

a) beutn nperycMOTpEeHbI YCIOBUS ...

b) Ipemycmorpeno ycaoBue ...

C) ByayT npesycMOTpeHbI yCIOBHS ...

d) IIpeaycMoTpeHbI yCIOBUSI

4. The locomotive is being repaired ...

a) PEMOHTHUPYIOT D) OTpeMOHTHPOBAH

C) pemoHTUpoBau d) OyayT peMOHTUPOBAThH
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5. The locomotive has been repaired ...

a) orpeMoHTHpOBaIH b) peMOHTHPOBAIH

C) peMOHTHPYIOT 0) peMOHTHPOBAJICS

6. The locomotive will have been repaired ...

a) OyayT peMOHTHpOBATh D) OymeT OTpeMOHTHPOBAH
C) peMOHTUPYIOT ) peMOHTUpYETCSI

3amanue 2. Write this sentences “The house is built” using the following time indicators:
now, last month, already, in 2014, by the time we came to this city, not yet, by the end next year.

3ananue 3. Choose the right answer:

1. The car ... made in Germany last year.

a) is b) had been c) was d) were

2. Christmas ... celebrated on the 25th of December by the Orthodox Church.
a) has been b) is c) is being d) was

3. I am sure the new method ... used now.

a) hadn’t been b) will be ¢) will have not d) was not being

4. Everything ... done by 9 a.m. tomorrow.

a) will have been b) will be c) is d) has been

5. The letter ... signed yesterday. As far as I know, it ... signed next week.
a) had not been, will have been b) was not, will have been

¢) was not, will be d) was not being, will be

6. A lot of examples ... given by the professor during that lecture.
a) will be b) has been c) are d) were

7. My paper ... discussed at that time.

a) is not being b) was not ¢) was not being d) had not been

8. The production of electric power ... doubled here next year.

a) will be b) is c) will have been d) was

9. This engine ... already tested.

a) is b) has been c) was d) is being

10. Those machine tools ... designed when I visited the factory.
a) will be b) have been c¢) were being d) were

3ananue 4. Ask questions indicated in the brackets:

. Such off-road vehicles are sold in special shops. (in what shops?)
. Our tickets should be bought next week. (when?)

. A greater part of London was destroyed by the fire.

. This job may be finished in three days. (in how many days?)

. New houses have been built in our district. (what?)

. Buckwheat is widely grown in Altai Region. (where?)

. An annual report must be signed by the boss. (who?)

. More money will be spent on education. (on what?)

00O NO Ol &~ WDN -

3ananue 5. Change the sentences from active into passive:

1. They offered me a promotion.

2. Mr. Brown will teach this class English.

3. Some people were using the cricket court, so we couldn’t play.

4. They can deliver mail before 8 a.m.

5. The police arrested the villain mainly because they had information



which the witness had passed to them.

6. Have you read the article yet?

7. 1 hope they will have watched the film by tomorrow.

8. No one has solved that problem yet.

9. One can’t learn a foreign language in a few weeks.

10. He is a nasty boy. His parents must teach him good manners.
11. They may raise the price of petrol.

12. Ann is going to buy fancy clothes tomorrow.

13. The customer has to book a table in advance.

14. Our parents promised us support and understanding.
15. The policeman showed us the way to Trafalgar Square.

3ajaHus AJ151 KOHTPOJISI IOHUMAHUSA TEKCTA MO CeNraJIbHOCTH
Read the text and answer the following questions:
What is academic mobility?
What is an exchange program?
What types of exchange programs can be indicated?
Who is an exchange student?
How are the applicants selected?

a b~ wbdE

Tema 2

Hepeqeﬂb 3aI[aHl/Iﬁ AJId KOHTPOJbHOI'0 O1mpoca
KomnuiekT 3aganuii 1 KOHTPOJIbHBIX BOIIPOCOB M0 TPAMMAaTHKe

3ananue 1. Choose the right answer:

1. Mary warned her parents that she ... home late that night.

a) would come b) had come c) will come d) would have come

2. My English teacher wanted to know ... doing in my spare time.

a) what did | enjoy b) what | enjoyed

¢) what | had enjoyed d) what | will enjoy

3. Jane was mistaken when she said that Maggie ... to her new flat the month before.
a) was moving b) moved c) had moved d) would move

4. In his interview he asked D. Dontsova why she ... another detective story.
a) has been writing b) writes ¢) was writing d) will be writing

5. The parents hoped that their first baby ... a girl.

a) will be b) would be c) has been d) be

3amanwme 2. Use the right form of the verbs in brackets:

1. I knew quite well that his family (;xuBeT) in London.

a) had lived b) lived c) live d) has lived

2. The newspaper reported that President Putin (mpu6swi) in India.

a) had arrived b) arrived c) would arrive d) is arriving

3. He said that the students of our group (3anumatotcs) in the library.
a) study b) studied c) were studying d) are studying

4. The students were informed that they (6yner) industrial training in
the third year of studies.

a) would have b) will have c) are having d) have had

5. He left terribly sorry for the things he (coBepmm).

a) has done b) done c¢) was doing d) had done
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3amanue 3. Translate into English:

. Moit npyr ckazai, 9To OH MHOTO paboTaerT.

. OHa xoTena 3HaTh, OEAET JIU OH JIETOM B MOCKBY.

. OH cka3zai, 4To 3HaeT JBa s3bIKa.

. MBI He TOHMMAaJIH, KaK 3TO CEPhE3HO.

. OHU y3HaJH, 9YTO OH OCETHJI MHOTO CTpaH.

. Onu 3HamMM, 4TO MOTOA Oy IET XOPOILEH 3aBTpa.

. Tom cripocun Camry, rae oH ObLT Buepa.

. Mama cnpocuna, Oy1yT Jin ee BCTpeyaTh B a3pOIOPTY.

O 0 3 N L B W N —

. Ha ypoke ¢m3uku yuennkn y3Hamnu, 4to Boja 3akumaeT npu t 100°C.
10. Mama nonpocuiia Hac cAenaTh MOKYNKH B MarasuHe.

3amanme 4. Choose the correct answer:

1. Wanda complained to me that the children ... very naughty that
evening.

a) were b) was c) had been d) have been

2. The shop assistant showed me a book and said that the book ... the
museums of our town.

a) described b) was describing ¢) had described d) will describe

3. She asked me about my schedule for the next week and | answered
thatI ... it yet.

a) hadn’t known b) didn’t know

¢) won’t know d) wouldn’t know

4. The doctor told me to stay in bed for a few days more otherwise
complications ... .

a) might set in b) had to set in

¢) must set in d) ought to set in

5. Jerry said that by the end of the year he ... in his new house for four years.
a) would have been living b) would live

¢) will have been living d) would be living

6. Ann begged me not to tell her father what ... earlier that day.

a) happened b) had happened c¢) would happen d) has happened

7. Kelly told me that while she had been eating her sandwiches at the station bar two strangers ... .

a) had come in b) came in ¢) would come in d) have come in
8. Sheila answered she ... stories and poems all her life as long as she could remember.
a) was writing b) had been writing c) wrote d) had written

9. Kate confessed that she usually bought her clothes at random, and as a result at the moment she ... any decent
things to wear.
a) is not having b) wasn’t having c) has no d) doesn’t have
10. Clemency said that she ... the office earlier that day to get to the station in time.
a) had to leave b) must leave
¢) had had to leave d) would have to leave
3anaHus AJ151 KOHTPOJIA MOHMMAHUS TEKCTA MO CHEeNNATbHOCTH
Answer the following questions:
1. Whose discoveries made it possible to create a battery?
2 What common types of batteries are used nowadays?
3. How many parts is the voltaic cell composed of?
4 In what direction does electricity flow when the two
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plates are connected by a copper wire?

What metals are considered to be perfect conductors?
Why is faulty insulation dangerous?

Where can batteries be used?

© N o O

Tema 3

IIepeuyeHsb 3a1aHMi 17151 KOHTPOJBHOIO OIPOCA
KommnuiekT 3a1aHuii 1 KOHTPOJIBLHBIX BOIIPOCOB 110 TPaMMaTHKe

3anmaunne 1. Choose the correct answer:

1. They asked me where I (exy).

a) will be going b) am going c¢) was going d) go

2. The newspapers wrote that he (6b11) the best writer the year before.
a) is b) was c) had been d) was being

3. We hoped that our experiment (6yzer) interesting.

a) will be b) would be c) will have been d) will not

4. Everybody knows that the restoration (3akonuena) already.
a) had been finished b) has been finished c) is finished d) finishes
5. She expected that he (sBiseTcst) an eminent scientist.

a) was b) is ¢) has been d) were

6. We decided that (HeoOxonnmo) to give an advertising.

a) it was necessary b) it is necessary c) it has been necessary

7. The assistant told me that the negotiations (ckopo HauHyTCS).
a) will begin soon b) would soon begin ¢) would begin soon

8. He decided that they (mpucoequnsTcs) our staff in May.

a) will join b) will be joined c) would join d) are joining

9. The secretary said that the computer (0b1 comMan).

a) was broken b) had been broken c) has been broken

10. She says that he (BerOpan) the topic of his graduation paper.
a) has chosen b) choose ¢) had chosen d) would choose

3anmanue 2. Transform direct speech into reported speech making the necessary changes:
1. Jane said: “It was cold and windy yesterday.”

2. The professor said to the students: “We shall discuss this subject
tomorrow.”

. Oleg said to Kostya: “Call me tomorrow.”

. She asked me: “What is the weather like today?”

. Natasha said: “I read “Gone with the wind” last year.”

. “You have done your job pretty well”, said the chief to him.

. “When will you complete your assignment?”” Brian asked me.

. The teacher asked: “Who can speak French fluently?”

. She said to me: “Don’t behave this way.”

O 0 3 O W h~ W

10. “I shall not buy anything new until I have repaid the current credit,” said the customer to a shop assistant.
11. Mother asked Jerry: “What progress did you make at school?”

12. “Don’t cross the street under the red light,” said the policeman to Mrs. Careless.

13. “Did you see your brother yesterday, Mary?” asked Mr. Green.

14. He said: “Where is he going?”

15. “Will you be busy tomorrow?”” Glen asked George.
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3amanme 3. Choose the right answer:

1. Mario told the family that he ... a date ... .

a) had, tomorrow b) will have, the next day

¢) was having, tomorrow d) was having, the next day

2. Miss Duffer told us that watching TV news ... her nervous.
a) is making b) made c) will make d) make

3. Bob answered that he ... the next mouth.

a) is married b) was married

c) was marrying d) is marrying

4. The doctor said that the patient ... a few days ago.

a) was operated on b) has been operated on

¢) had been operated on d) would be operated on

5. “How are you parents doing?” she asked. I answered that they ...very well.
a) were doing b) are doing

¢) have bee doing d) had been doing

6. We told everyone that we ... to the meeting in time, but ... at earliest possible.
a) couldn’t come, would arrive b) can’t come, would arrive

¢) couldn’t come, arrive d) can’t come, will arrive

7. Oleg told me that he ... Ann in the street and that she ... fine.
a) met, had seemed b) had met, had seemed

¢) had met, seemed d) has met, was seeming

8. He said that he ... in Canada for ten years.

a) lived b) had lived c¢) had been living d) lives

9. John said that she ... to school ... .

a) had gone, the day before b) went, yesterday

¢) had went, the day before d) had gone, yesterday

10. Jane told us that Jim ... than Bill.

a) was nicer b) has been nicer c) is being nicer d) is nicer

3ana}mﬂ AJIl KOHTPOJIA MOHUMAHUA TEKCTA M0 CNENUAJIBHOCTH

Answer the following question:

1. What is a conductor?

2 What are the most common conductors in electrical engineering?
3. What is the most common function of wire conductors?

4 What is a relationship of resistance to a temperature rise?

Tema 4

Ilepevyens 3a1aHUM 1J151 KOHTPOJBHOI'0 OIPOCA
KommuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB M0 I'PaMMATHKeE

3ananue 1. Use the right form of the verbs in brackets:
1. If I see him, I (tell) him the news.

2. The table will break if you (stand) on it.

3. If he (eat) all the cakes, he will be ill.

4. If I find your book, I (let) you know.

5. The police (arrest) him if they catch him.

6. If he (read) late at night, he is sleepy in the morning.
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7. If he (need) a pen, he can borrow mine.

8. Your car (be stolen) if you left it unlocked.

9. The teacher will get angry if you (make) many mistakes.
10. She will be furious if she (hear) this.

11. If you boil some water, | (make) tea.

12. If you leave your bag here, it (be lost).

13. You’ll miss the bus if you (not/leave) at once.

14. If you come late, they (not/let) you in.

3amanme 2. Open the brackets so that the sentences express: a) a real condition; b) an unreal condition.

. 1T 1 (know), 1 (tell) you.

. If she (want) to talk, she (ring up).

. If he (have) enough money, he (buy) a large house.
. She (feel) lonely if Peter (go) away.

. We (be) pleased to see you if you (arrive).

. If we (can) come on Sunday, we (come).

. I (understand) Mr Smith if he (speak) slowly.

. We (not/go) by ship unless there (be) no other way.
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3amanme 3. Complete the sentences:
If I had enough money ....

If it doesn’t rain soon ... .

I’ll stay at home if ... .

I wouldn’t have come to the theatre on time if ...
If I left home for work earlier ....
If I won a prize ... .

IfI were a king ... .

If I told my parents the truth ....

If I were you ....

If I were rich ....

3aJ]aHl/Iﬂ AJIsl KOHTPOJII MOHUMAHUA TEKCTA M0 CNIEMUAJIBHOCTH
Answer the following questions:

What is a transformer used for?

What does a transformer consist of?

What two types of transformers do you know?

What type of a transformer is used for high frequency currents?
What type of a transformer is used for low frequency currents?
What are common troubles in a transformer?

What should be done in case a transformer has a trouble?

N o ok wbhe

IV CEMECTP

Tema 1

Ilepeuyensb 3a1aHnil 1J151 KOHTPOJBLHOIO ONPOCA
KoMIuiekT 3ajaHMii M1 KOHTPOJILHBIX BOIIPOCOB 110 PAMMAaTHKe

35



3amanme 1. Choose the right answer:

1. I want them (to arrange/arrange) training for our operators.

2. You’d better (to discuss/discuss) it with our Consultant.

3. We need (to decide/decide) what equipment to buy.

4. Your company is known (to be/be) a second-tier player.

5. Please let me (to think/think) it over.

6. Would you rather (to go/go) home or stay here?

7. Why not (to organize/organize) an international exhibition next year?
8. Can | (to help/help) you?

9. Our Marketing Director made us (to visit/visit) this specialized
exhibition.

10. Let us (to go/go) to the commercial centre.

33}13HI/IH AJISl KOHTPOJISI MOHUMAHHUA TEKCTA M0 CNIEMUAIBHOCTH

3amanue 1. Collect the sources of information you will use for your research and arrange them in the
appropriate order due to the existing standards. Make a list of sources due to the example given in the
textbook.

Tema 2

IlepeuyeHsb 3a1aHMi 1J151 KOHTPOJBLHOIO ONPOCA
KommnuiekT 3a1aHMii 1 KOHTPOJIBLHBIX BOIIPOCOB 110 TPAMMAaTHKe

3anmaunne 1. Define the form of the Infinitive and translate the sentences into Russian:
1. I am glad to have been working with you all these years.
2. | want to learn French.

3. I am sorry to have troubled you.

4. He does not like to be asked questions.

5. We are glad to have been invited to the fair.

6. He seems to be reading a report.

7. It is impossible to put the equipment into operation now.
8. When to leave will be announced later.

9. The letters to be posted are on the table.

10. They are declared to have signed a very big contract.

3aganue 2. Define the function of the Infinitive and translate the sentences into Russian:
1. What to answer them must be thought over.

2. Tell me how to do it.

3. I’ve got a call to make.

4. When to begin will be announced.

5. T don’t know whether to put this equipment into operation or to wait
for their specialists.

6. The first thing to do is to promote our goods to new markets.

7. He is hard to deal with.

8. They are certain to exhibit their products at our annual exhibition.

9. He was the first to come.
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3aganusi AJ1s1 KOHTPOJIS MOHMMAHUS TEKCTA MO CNeNHATbHOCTH
Answer the following questions:

What is the most popular source of energy nowadays?

How did the electric motor change the 19-th century workshop?

What invention caused the appearance of electric lighting?

What makes us state that a country is well-developed and industrialized?
What is the major advantage of electricity?

o bk~ wh e

Tema 3

Ilepevyens 3a1aHUM 1JIs1 KOHTPOJIBHOTO OIIPOCa
KommiaekTt 3ananm‘71 H KOHTPOJIbHBIX BOIIPOCOB 110 rPaMMAaTHUKE

3amanme 1. Form the Participle I from the verb in brackets and translate the word combination into Russian:
1. (grow) interest

2. a (worry) problem
4. a (pass) bus

5. an (excite) story

6. a (fly) fish

7. a (cheer) crowd

8. the (follow) chapter
9. (run) water

3amanwme 2. Form the Participle II from the verb in brackets and translate the word combination into Russian:
. a (well-pay) job

. a (steal) car

. a (freeze) lake

. @ (destroy) church

. a (use) bus

. an (excite) child

. a (complicate) explanation

. a (break) heart

. a (frighten) puppy
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3ananue 3. Translate into Russian:

1. We saw the child’s shining eyes.

2. The girl watched the falling snow.

3. We looked at the closed gate in surprise.

4. She found her lost notebook on her father’s bookshelf.

5. The cars filling the street moved very slowly.

6. A fish taken out of water cannot live.

7. The pupils taking part in the competition must be here at 4 o’clock.

8. The language circle organized by our English club meets every Wednesday and Friday.
9. We watched the birds flying in the sky.

10. Suddenly they noticed a cloud of smoke rising into the air.
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3aI[aHI/Iﬂ MAJISA KOHTPOJISI IOHUMAaHHUA TEKCTa MO CIICMHAJTBbHOCTH

Answer the following questions:

1. What is electricity?

What are the main resources of power generation?

What renewable sources of electrical energy do exist currently?
What is drawing a great attention of experts in recent times?

In what countries has nuclear power generation to be adopted?

ok~ own

Tema 4

IlepeyeHnb 3a1aHUM /151 KOHTPOJIBHOIO ONPOCa
KommnuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB IO I'PaMMATHKeE

3apanue 1. Define the function of participles and translate the sentences into Russian:

. People coming to the fair can see modern digital means of communication.

. Besides the above-mentioned goods, our company produces some new models.

. Being impressed by the performance of the equipment they decided to place a trial order.
. After receiving the promised invitation | went to the conference.

. He spent the whole day answering the questions of the visitors.

. They stood talking and we sat reading.

. While planning an advertising campaign he came across many difficulties.
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3anmanue 2. Translate the words in brackets using participles:

1. The fair (mpoxoasmias) in our city now is very interesting.

2. (PasmecTuB Gonbmioii 3aka3) the Buyers got a substantial quantity discount.

3. (ITpopexnamuposas) our goods on TV we decided to use some outdoor means.

4. Each time (pacckasbiBast 00 3T0it pekiamuoii kamnanuu) she could not help smiling.
5. (Korga ero npurnacunm) he said he wouldn’t come to the party.

6. (ITocne Toro Kak 31anue otpectaBpupoBain) it looked beautifully.

7. (INomyumB Texymuii karasor), we decided to place a trial order.

8. Your range of products (pa3menienHsrii) on your stand impressed us greatly.

9. The project (koTopblil peanu3yioT ceiidac) was proposed by our team.

33}13]—[1/[5[ AJISl KOHTPOJISI MOHUMAHUA TEKCTA M0 CNIENMUAJIBHOCTH

Answer the following questions:

1. When is electrical energy released?

2. What makes electrons move from one atom to another?
3. How is electromotive force developed?

4. What force is called direct?

5. What units are used to measure electrical force?

Tema 5

Ilepeuensb 3a1aHNi 1J151 KOHTPOJBLHOIO ONPOCA
KommnuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB 10 TPAMMAaTHKe

3anmanue 1. Comment on the form of the gerund.

. Having advertised our goods in some specialized magazines we decided to make a TVspot.
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Having chosen, playing, being given, having been done, thinking, being translated, reaching, having left,
being treated, joining, having been asked, inviting, being made, having cooked.

3ananue 2. Give all the possible gerundial forms of the following verbs.
To lie, to skate, to examine, to raise, to feel, to knock,to fill, to skip, to eat, to rise, to ski, to fly, to move, to
lay, to ring, to sweep, to choose, to wring, to jump, to cut, to hold.

3amanue 3. Use the Gerund in the appropriate form instead of the infinitive in brackets.

1 Gemma is used to (to interrupt) a teacher, but she hates (to interrupt) while she is answering the lesson.
2 Mike doesn’t like (to read) books himself but he likes (to read) by his Mum.

3 They look forward to (to meet) at the railway station by their new son-in-law.

4 Thank you for (to answer) the letter so soon.

5 She disliked (to arouse) early.

6 She apologized for (to change) the timetable without (to inform) me about it.

7 They haven’t got a chance of (to have) a word together.

8 Victoria displayed a distinct pleasure at (to allow) to tell her story.

9 | have only just discovered that | cannot bear (to watch) doing anything so badly.

10 William insisted on (to tell) the truth as he himself is used to (to tell) the truth.

3anmanue 4. Paraphrase the sentences using the gerund in the function of the subject.

Model: It is harmful to drink alcohol.
Drinking alcohol is harmful.

1 It is dangerous to drive a car in such fog.

2 It is pleasant to walk home after school.

3 It is bad to eat fast-food.

4 It was lovely to move to the country.

5 It is difficult to learn English grammar.

6 It was a great mistake to stay indoors in such lovely weather.
7 It interests him to collect stamps.

8 It is foolish to lie to him.

9 It is impossible to lengthen this dress.

10 It is no easy matter to treat this disease.

3amanue 5. Complete the following sentences using the gerund in the function of
the subject.

1 ...is pleasant.

2 ...1s useful.

3 ...was painful.

4 ...is such fun.

5 ...1s a new experience for me,
6 ...is out of question.
7 ...is tedious.

8 ...was his constant passion.
9 ...is healthy.

10 ...is wise.

33}13]—[1/[5[ AJIsl KOHTPOJISI MOHUMAHHUA TEKCTA M0 CNIENUAJIBHOCTH

Using Ohm’s Law try to find solutions to these problems:
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1. The load in a circuit is 3 ohms, the voltage is following at 12 volts. What will be the current
value?

2. The current in a circuit is equal to 5 amps. How much resistance shall be overcome by 12
volts?
V CEMECTP
Tema 1

IIepeuyeHsb 3a1aHNi 1J151 KOHTPOJBLHOI'O OIPOCA
KommiaekTt 33113111/1171 H KOHTPOJIbHBIX BOIIPOCOB 110 rPaAaMMAaTHKE

3amanue 1. Revise the Participle and test yourself by choosing right answers:

1. Statistics is a science ... with study of numerical facts and data.
a) dealing b) being dealt c) having dealt d) having been dealt

2. The telephone ... by A. Bell has changed the world beyond recognition.
a) having been invented b) being invented
c) invented d) having invented

3. The interview ... by the President was devoted to economic problems.
a) having given  b) being given  c¢) having been given d) given

4, Jim spends all his time (mocemas) to parties.
a) going  b) having been going ) being gone  d) having gone

5. (bpocuB) the ball into the water, the boy could not get it back.
a) Throwing b) Being thrown
c) Having been thrown  d) Having thrown

6. (Having been asked) to get the book, he said he would try to.
a) [Monpocusmmii  b) Korna ero monpocwim ) [ompocus

7. The girl sitting at the window is my sister.
a) JleBymika, cunsmas y oKkHa, MOsI CecTpa.
b) JleBy1ika, KOTOpast CHANT Y OKHA, MO CECTpa.
C) Mos cecTpa cuzena ¢ AeBYIIKOW Y OKHa.

8. He sat in the armchair reading a newspaper.
a) [IpounTas rasery, OH cell B Kpeco.

b) OH cuzen B kpecie ¥ YuTal ra3ery.

¢) OH cuzen B Kpecie, YnTast ra3ery.

3amanwue 2. Translate into English using the appropriate form of the Infinitive.
1. S pan, 9To pacckaszan BaMm 3Ty MCTOpHIO. 2. S pal, 4TO MHE pacckKazaiau ATy uctopuio. 3. A xouy
MIO3HAKOMUTH Bac C 3TOM apTUCTKOU. 4. 5 Xody, 4TOOBI MEHS MO3HAKOMMJIM C 3TOM apTUCTKOH. 5.
pan, 4Tto BCTpeTWN €€ Ha cTaHuuu. 6. S panx, 4TO MEHs BCTPETWIM HAa CTaHUMH. 7. MBI OuY€Hb
CYACTJIMBBL, UTO MPUTIACUIN €ro Ha Beuep. 8. Mbl OueHb CUaCTIIMBBI, YTO HAC MPUIJIACUIN HA BEdep.
9. OH OyJIeT cyacTiuB MOCETUTh ITY 3HAMEHUTYIO KapTHHHYIO ranepero. 10. OH ObUl cYacTIUB, YTO
MIOCETUJI ATy 3HAMEHHUTYIO KapTHHHYIO rajiepero. 11. Jletn mo0AT, KOraa UM paccKas3blBAIOT CKa3KH.
12. MHe o4YeHb KaJjib, 4TO 5 MPOITYCTHI 3Ty Jekuuto. 13. OHa cyacTiuBa, 4To ObLIa Ha STOM KOHIIEPTE.
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14. Ona pasa, yTO NPUCYTCTBOBAJA Ha JeKIUH. 15. OH OYeHb JOBOJIEH, YTO BBIMIpai KyOok. 16. OH
OBLT CYACTJIMB, YTO CHOBa Aoma. 17. OH ObUT cHacTJIMB, YTO BEpHYJCs nomoi. 18. S coxkanero, 4To
npepBa Bac.

33}]8HI/IH AJIA KOHTPOJIA MIOHUMAHHUA TEKCTA

3amanue 1. Translate the word combinations from English into Russian:

to attract attention; public office; to depend upon; daily work; to take responsibility for; to accomplish
a purpose; to persuade an audience; to take certain actions; to be given credit for; to argue one’s cases;
to make prudent decisions; to criticize ideas through public speaking; to gain the reputation.

3amanwue 2. Explain or paraphrase the words:
to deliver a report; to address; an audience; schedule; spontaneous.

3ananue 3. Give the English equivalents for the words:

NpUBJIEKaTh BHUMaHHE; 00pamaTbCs K ay JUTOPUH; TIPEPHIBATh; OpaTh OTBETCTBEHHOCTH 338 CBOH
CJIOBA; IOCTUYb 1IeJIel; oOecrieunBaTh HHPOpMaLueil; 3apaHee; yOeAUTh NPUHATh HOBYIO TOUKY
3pEHHST; IPEIPUHATH ONPEACTICHHBIC JCHCTBHUS; CIIOHTaHHAS PeYb; SKCIIPOMT; BKJIAT; COJIEPIKAHHE;
BJIMATDH Ha; IPOU3HOCUTH PEUb; 3aBOEBATh PEIyTAlMIO; pa300yadaTh; BOOAYIIECBIATh.

Tema 2

Ilepeuyensb 3a1aHNi 1J151 KOHTPOJBLHOIO ONPOCA
KommiaekT 33113111/1171 H KOHTPOJIbHBIX BOIIPOCOB 110 rPaMMaTHUKE

3amanue 1. Translate the sentences with the Complex Object construction into Russian.

1. 1 would like her to sing. 2. Did you notice anyone come in? 3. Let me go. 4. They made me believe
that there was no danger. 5.Mother wants me to get good marks at school. 6. Would you like me to
help you with Math? 7. I don’t want you to misunderstand me. 8. The teacher expected the students to
hand in the tests at once. 9. In my childhood my parents made me learn to play the piano.10. We
expected the children to be looked after.

3ananue 2. Make up some sentences:

I heard him speak to the consultant
We saw her take part in the fair
You watch us go to the commercial centre
They made them discuss the issue

let me to organize an exhibition
want you to see new machinery
wish to answer my questions
expect operate the equipment
would like
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3aganue 3. Translate the sentences:

1. S capiman, 9To OHU OOCYKIAIOT MPOOIEMY.

2. OHM XOTHT, 9YTOOBI MBI IPUHSUIA YYaCTHE B BHICTaBKE.

3. OHU 0KUAAIOT, YTO MBI OPTAaHU3YEM MOJTOTOBKY UX OTNEPAaTOPOB.

4. OHH XOTSAT, YTOOBI TAPAHTHIHBIA CPOK HAIIETO 000PYI0OBAHUS COCTABIISLI ABAANATH YETHIPE MEcCsIIa.
5. 51 Buzel, 4TO OHY NOLIU B KOMMEPYECKUN LICHTP.

6. OHM MTO3BOJIMJIM HAM TIOCMOTPETH UX HOBOE 000PYI0BaHHE.

3aJIaHI/Iﬂ AJIsl KOHTPOJISA MOHUMAHHUA TEKCTA M0 CIEMUAJIBHOCTH
Answer the following questions:

By what means is current transmitted to distant places?

What metal are usually the wires made of?

What maximum pressure may be found in aluminum cables?
What pressure is used in households?

What would happen if we touched one of the aluminum cables?

SN

Tema 3

Ilepeuyensb 3a1aHNil 1J151 KOHTPOJBHOIO ONPOCA
KommiaekTt 33113111/1171 H KOHTPOJIbHBIX BOIIPOCOB 110 rPaMMaTHUKeE

3aganue 1. Translate the sentences:

1. A magnet is known to attract only things containing iron.

2. The current is said to heat the body through which it is flowing.

3. The direction of force is seen to be dependent upon the direction in which the field is cut.

4. The common dry cell is found to develop 1.5 volts of electrical force regardless of the size of
the cell.

5. The volt is known to be the unit of measure for electrical force.

6. One ohm is known to be the resistance of a conductor through which the current is 1 ampere

when the potential difference across the ends of the conductor is 1 volt.

3ananue 2. Paraphrase the following sentences using the Complex Subject construction.

Model: People consider the climate there to be very healthy. = The climate there is considered to be
very healthy (complex subject).

1. It was announced that the Chinese dancers were arriving next week. 2. It is expected that the
performance will be a success. 3. It is said that the book is popular with both old and young. 4. It is
supposed that the playwright is working on a new comedy. 5. It is reported that the flood has caused
much damage to the crops. 6. It has been found that this mineral water is very good for the liver.

3ananue 3. Translate into English using the Complex Subject construction.

1. ToBopsT, uTo 3TO 31aHUE OBLIO MOCTpOeHO B 15 Beke. 2. [Ipeamonarator, 4To coOpaHrue 3aKOHIUTCS
B 10 yacos. 3. 3BecTHO, 4TO pUMJISIHE TOCTPOUIIN HAa BpUTaHCKHUX OCTPOBAxX XOPOIIKE JOPOTH.

5. Ilomararot, yto mosma «beoBynbd» Obuta Hamucana B 15 Beke. 6. Bamprep CKOTT cumTaercs
co3laTesieM MCTOPUYECKOro poMaHa. 7. ['oBOpsT, 4To OH paboTaeT HaJx CBOMM H300pETEHHEM YiKe
HECKOJbKO JieT. 8. CooOIIaloT, YTO SKCIEUIUS JOCTUIIIa MeCTa Ha3HAYCHHUS.

3al]aHl/Iﬂ AJIsl KOHTPOJII MOHUMAHUA TEKCTA M0 CNIEMUAJIBHOCTH

Answer the following questions:
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Does there exist a wide variety of electric motors?

What principal kinds are direct-current motors divided into?
What is a field winding and how is it made?

What is a series motor?

What is a shunt motor?

What is the design of a compound motor?

S

VI CEMECTP

Tema 1

Ilepeuyensb 3a1aHNil 1J151 KOHTPOJBLHOTIO ONPOCA
KommnuiekT 3a1aHuii 1 KOHTPOJIBHBIX BOIIPOCOB 110 TPAMMAaTHKe
3amanue 1. Translate the sentences into Russian:
| saw him running.
They watched him slowly approaching the house.
| saw them walking along the street.
The manager watched the furniture being discharged.
He watched her reading the letter.
They noticed me leaving the house.
We felt the wind blowing.
| heard him coming up the stairs.
We listened to him singing the song.
10.  They heard the child laughing.
11.  We watched him coming to the gate.
12. She has had a new dress made.
13. | have had my hair cut.

©ooNO kWD E

14. How often do you have your carpets cleaned?
15. We have just had our house decorated.
16. | must have my hair washed.

3amanue 2. Change the following sentences by using the pattern with ‘have smth done’ instead of the
pattern with the Passive Voice:

0 My radio set was repaired. — | had my radio set repaired.

0 Mr West’s clothes must be cleaned. — Mr. West must have his clothes cleaned.
0 Where can my umbrella be mended? — Where can I have my umbrella
mended?

1. My suit was cleaned last month.

2. Nora’s carpets were beaten before the birthday party.

3. Mr. West’s article was translated into French.

4. Mr. Brown’s advertisement was printed in the newspaper.

5. Their luggage was brought to their room.

6. Peter’s hair must be cut.

7. Roger’s bicycle must be repaired.

8. His bad tooth must be pulled out.

9. Mr. Green’s house must be painted.

10. Where can my suit be cleaned?

11. Where can my car be repaired?

12. Where can my shoes be polished?

3amanwue 3. Translate the sentences into English using the Complex Object construction with
Participle I or Participle II:



Omna Buzena, Kak s OTKPbUI OKHO.

51 caplman, Kak OHH TOBOPUIIA 00 3TOM.

Omna 3ameTHIIa, Kak OH BBIXOJWI U3 KOMHATHI.

OnHu MOYyBCTBOBAJIM, KAK MAITTHA OCTAHOBUJIACK.

Yuurens HaOMI0qaI1, KaK YYSHHUKH JIeTalli yIIpaKHEHUE.

S Mory npoauTh BU3y?

I'ne st Mory 3amnoMOupoBath 3y6?

51 TONBKO YTO OTPEMOHTHUPOBAJ MAIIUHY (paboTaiu MacTepa).
Omna cmmia HOBOE TIaThe (B MaCTEPCKOM).

©CooNO O~ WD E

3aganus AJIA KOHTPOJIA MOHUMAHHUA TEKCTA

Answer the following questions:

Is an essay a common way of assignment at university?

How long is a usual essay?

What steps do essays involve?

How does an essay differ from a report?

What abilities do essays assess?

What do essays bring together in order to address a specific problem or a question?
What is the main purpose of a narrative essay?

What is a descriptive essay aimed at?

What is the main goal of a persuasive essay?

©ooNo kD E

Tema 2

IlepevyeHsb 3a1aHUM J1J151 KOHTPOJIBHOIO ONIPOCa
KommuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB IO I'PaMMATHKeE

3amanwue 1. I. Translate the following sentences with the Absolute Participle Construction into Russian:
1. An electric conductor being moved in a magnetic field, an electric current is generated.

2. The engine running at low revolutions, the temperature of oil remained constant.

3. Some new devices having been obtained, the researchers could make more complex experiments.

4. The students wrote their English test-paper, each doing his variant.

5. Part of the energy being changed into heat, not all the chemical energy of the battery is transformed
into electric energy.

6. There being a lot of things to discuss, the conference lasted for a long time.

7. England being a constitutional monarchy, the king is only a formal ruler.

8. The weather being fine, they went for a walk.

9. The components of the velocity of a body moving in the air being known, the resultant velocity may
be found.

10. The heat being proportional to the square of the current, the rise in temperature in a hot wire
instrument is also proportional to the square of current.

11. The pressure being known at some point in the flow of air, the pressure at another point on the
same streamline may be calculated by Bernoulli's law.

12. The experiment having been made, scientists were interested in the results.

13. Weather permitting, the ship will leave the harbor.

14. The equipment being broken, the investigators couldn’t carry out the experiment.

3ananue 2. Transform the sentences according to the model:

The ice being very thin, the children could not cross the river:
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The ice was very thin and the children could not cross the river.
1. Weather permitting, the planes will fly.
2. The work having been done, the workers went away.

33}131—[1/[51 AJIsl KOHTPOJISI MOHUMAHHUA TEKCTA M0 CNIENMUAJIBHOCTH

Answer the questions:

What is expected of wind power in Europe?

What is the most important fact in developing wind power?
Where and by whom was the first wind turbine developed?
What is the average size of the wind turbine?

What are the features of the biggest wind turbine?

Does a wind turbine have an impact on the environment?

ok wnE
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®OHJI OHIEHOYHBIX MATEPHUAJIOB JIJISI IPOMEXYTOYHOM
ATTECTAIIUU B ®POPME 3AYETA

IIpomexxyTouHas arTecTalys BO BTOPOM ceMecTpe (3a4eT) IPOBOAUTCS HA OCHOBE BBIIIOJIHEHUS
MUCHbMEHHOM KOHTPOJIBHON paboTHI, O€CeIbl CO CTYICHTOM I10 TeMaM YCTHOM peun.
Kontposupyemsbie komnerenuuu: OK 01, OK 02, OK 04, OK 06, OK 09

Kpurepum ouenku:
3a4YTCHO — BBIITIOJIHCHA KOHTPOJIbHAA pa60Ta 1 YCTHBIC 3alaHUA
HE 3a4YTEHO — HE BBINOJIHEHA KOHTPOJIbHASA paboTa U yCTHBIE 3aJaHUS

TECT
NPOMeKYTOUHOM aTrTtecTannu no gucuumimae OI'CI.03 UnocTtpanHblii A3bIK B
npogdeccuoHAIbHOM 1eATeTbHOCTH

1) BriGepuTe ciioBO, T/1e OKOHYaHHE YNTACTCA Kak [Z]:
a) belts b) bees c) roofs d) tests

2) BeiGepuTte c10BO, I'/ie MPOU3HOIICHUE YAAPHOTO TIIACHOTO COOTBETCTBYET 3BYKY [€]:
a) meet b) key C) mean d) desk

3) 3anoyHUTE MPOITYCKU OJHUM M3 JaHHBIX CIIOB:
I am going to work in the ... of atomic energy.

a) shop b) counter c) field d) place

4) BBI6epI/ITe COOTBETCTBUA MCXKIY aHTJIMHCKUMU CIIOBAMHU U UX PYCCKUMU SKBHBAJICHTAMMU:

1. composer a) KOMITO3UTOP
2. symphony b) cumponus
3. violinist C) CKpHIay

4. clavier d) kmaBecun

5) Breibepute «iniHee» CI0BO:

a) body b) figure c) form d) building

6) Brioepute anTonuMm k cioBy difficult:
a) hard b) demanding c) similar d) easy

7) Ynorpebute Hy)KHYIO (GOpMy MOTIEPKHYTOTO HMEHH CYIIECTBUTEIILHOTO one tooth — two ... :
a) toothes b) teeth c) tooths  d) teethes

8) YmoTrpebure HYXHYIO (OpMy UMEHHU MPUIIAraTeIbHOTO: That bike is ... than that car.
a) cheapest b) cheap c) the cheaper d) cheaper

9) Yrorpedute HyKHOE MECTOMMEHHE: He’s got a calculator. It’s ... calculator.
a) him b) his c) her d) he

10) Ynorpebute Hy)kKHYyIO (hopMy riarona: Paula Fairfax ... in America.
a) lives b) live c) are living d) is living

11) BeiGepute npaBuiIbHBIN BapuaHT oTBeTa: What time ... yesterday?
a) did you got up b) did you get up c) you got up d) do you got up
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12) Ynorpebute Hy)kHYyI0 (hopMy riarona:
Bob ... a computer when the electricity went off.
a) is using b) was using C) were using d) will be using

13) Ynorpebure HyXHBI apTHKIIb, TJI€ 3TO BO3MOYKHO: He eat ... meat every day.

a@an  b)- c)the d)a

14) Ynotpebure Hy KHBIH IPEIOT: I like getting up late ... the weekend.
a) on b) at c)in d) by

15) BribepuTe npaBUIIbHBIN BApUAHT IEPEBOIA: They have come.
a) Ouu uayt. b) Onum npunumu. ¢) OHu umeroT Hamepenue npuiitd.  d) OHU He TPUIILTH.

16) IlpounTaiite TEKCT U ONpPEICTUTE, KAKOH U3 3ar0JIOBKOB COOTBETCTBYET TEKCTY:

International trade is when companies from one country sell their products or services in other
countries. For example, the UK produces cars, machinery, oil and chemicals, which it exports to
overseas markets. Other British exports include services like banking and travel. These earn foreign
currency for the UK. Imports to the UK include cars, food, and electrical goods.

a) International Trade b) Foreign Currency  ¢) Import to the UK d) British Exports
17) IlpounTaiiTe TEKCT M 3aMOTHUTE MPOIYCKU MOAXOASAIIMMHE TI0 CMBICITY CJIOBaMHU:

Importers and (1) do not use the same currency. When they buy and sell (2) they change
money from one currency to another. There are two ways of doing this. First, the importer can pay in
his own (3) and exporter changes on the international currency market. Secondly, the importer
(4) his own currency and purchases the exporter’s. Then the importer pays. Usually the banks
buy and sell currency for their clients.

a) exporters b) currency c) sells d) goods
18) IlpounTaiite TEKCT:

Veronique Feldmann:

“I work in the Supplements Department. I’'m the Advertising Coordinator, and my work to produce the
advertising supplements. A supplement is like a newspaper inside a main newspaper and we call it a
“sponsored section” because it is financed by the advertisers. We only have these supplements if we
can sell enough advertising. For a sponsored section we think of an idea, then we sell the advertising
space and get articles, photographs, illustrations. Then we do the layout. We put the whole supplement
together in this department. The supplements don’t appear every day — we usually do about 2000
year.”

Otetbre Ha Bonpoc: What is a supplement?

a) A supplement is an article in the newspaper.

b) A supplement is photographs and illustrations in the newspaper.
c) A supplement is like a newspaper inside a main newspaper.

d) A supplement is an advertisement.

19) [IpounTaiiTe TEKCT U HAMIUTE COOTBETCTBYIOMINH TIEPEBO/I MMOUYESPKHYTOTO CIIOBA!
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Choosing an occupation takes time, and there are a lot of things you have to think about you try to
decide what you would like to do. You may find that you will have to take special courses to qualify
for a particular kind of work, or may find out that you will need to get some actual work experience to
gain enough knowledge to qualify for a particular job.

a) kiaccu(uIupoBaTh b) obnanare kBanuuUKaue
¢) kBanupuKanus d) xmaccudukamnms

20) IIpounTaiiTe TEKCT U BBIOEPUTE YTBEPIKIECHHE, COOTBETCTBYIOIIEE CONCPIKAHUIO TEKCTA!

Information technology (IT) is an important part of the travel business. Almost all suppliers, such as
tour operators, airlines, and hotels, have their own website. Customer can find information and make
online booking. There are also many “one-stop” websites like traveleasy.com. These allow people to
find all the information they need on one website — for example, the cheapest deals on flights, or hotel
accommodation.

a) A “one-stop” website is not useful if you want information about many different things.
b) Most suppliers have their own website.

c) Suppliers can find information and make online booking.

d) You can’t find all the information you need on one website.
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IIpomexxyTouHas aTTecTalys B 4eTBEPTOM ceMecTpe (3a4eT) IIPOBOJUTCS Ha OCHOBE BBIIIOJHEHHUS
MUCbMEHHOM KOHTPOJIBHOU PabOThI, O€CeIbl CO CTYJACHTOM I10 TeMaM YCTHOU PEYH.
Kontpoiaupyemsbie komnerenuuun: OK 01, OK 02, OK 04, OK 06, OK 09

Kpurtepun onenkmn:
3a4TEHO — BBIIIOJIHEHA KOHTPOJIbHAs paboTa U yCTHBIE 3aaHUs
HC 3a4TCHO — HC BBITIOJIHCHA KOHTPOJIbHAA pa60Ta N YCTHBIC 3alaHUA

TECT
NPoMeKyTOUHON aTrTecTauuu no gucuuminue OI'CI.03 Unocrpannblii A3bIK B
npodeccuoHAIBLHOM AeATEJIbHOCTH

VYxkaxure GyHKINIO THPUHUTUBA!

1) To operate this computer is easy.
a) ompenencane  b) obcrosTrenscTBO  C) gomoiHeHne  d) momseskariee

VYkaxxuTe npaBuIbHBINA BapUAHT NIEPEBOJIA:

2) He is said to have established another record.

a) OH cKkazall, 4TO OH YCTaHOBUJI €lIe OJNH PEKOP/I. b) ['oBOPSIT, YTO OH YCTAHOBUII €IIIC OJIUH
peKop..

c¢) 'oBOpSAT, 4TO OH YCTAHOBHUT €I1I€ OJAUH PEKOP/I. d) OH cka3aj, 4TO yCTAaHOBHT €IIIEC OJIUH
peKop..

Bvibepume npasunvuwiii 6apuanm omeema:
3) This is the book ......... during the summer holidays.

a) to be reading b) to have been reading c) to read d) to be read
4y was his greatest pleasure.
a) to have played chess b) to play chess c) to be playing chess d) to have been playing

5) Vkaxurte neppekTHoe MpruiacTue B 1eUCTBUTEIHHOM 3aJI0Te:

a) being made b) having made ¢) making d) having been made

6) Onpenenute PyHKITUIO MPUIACTHUS B TIPEAJIOKECHUU:

Having lost the book, the student couldn’t remember the topic.

a) ompesieieHne b) umennas yacth ckazyemoro C) mojyIeKaIee d) o6cTosTEnBCTBO
Bri6epute npaBuibHy0 GOpMy IpUUACTHS:

7) Football ... by the British is very popular in many countries.

a) invented b) being invented ¢) inventing d) having invented

VYkakuTe NpaBUIbHBIA BapHaHT MEPEBO/Ia BHIPAKEHHUH B CKOOKaXx:
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8) (Korma ero mpurnacunu), he said he wouldn’t come to the conference.

a) having been invited b) inviting c) having invited d) invited
BriGepure npaBmiibHy10 popMy repyHus:

9) I am pleased at your ... my friend in mathematics yesterday.

a) having helped b) helping c) being helped d) having been helped
VYKaXuTe NpaBWIbHBINA BAPUAHT NIEPEBOAA IIPEIOKEHUSA:

10) He doesn’t like being asked questions.

a) OH He J1Io0UT 3a/1aBaTh BOIIPOCHI. b) OH He MOOUT, KOTa eMy 3aJIal0T BOTIPOCHI.
c) EMy HpaBuTCs 331aBaTh BOIIPOCHI. d) EMy HpaBHTCSI OTBEUaTh Ha BOIIPOCHI.

Hpoqmume cmamoio!

HIRE-PURCHASE

This system of buying goods became very common during the first half of the twentieth century.
Today a large proportion of all the families in Great Britain buy furniture, household goods and cars by
hire-purchase (mokymnka/mpojaxa B paccpouky). In the USA, the proportion is much higher than in
Great Britain, and people there spend over 10 per cent of their income on hire purchase installments.
The goods bought by hire-purchase are, in almost every case, goods that will last - radio and television
sets, washing-machines, refrigerators, motor-cars and motor-cycles, and articles of furniture.

The price of an article bought in this way is always higher than the price that would be paid for cash.
There is a charge for interest. The buyer pays a proportion of the price when the goods are delivered to
him. He then makes regular payments until the full price has been paid. The legal ownership of the
goods remains with the seller until the final payment has been made.

Hire-purchase has advantages and disadvantages. It increases the demand for goods, and in this way
helps trade and employment. If families are paying each month installments on such household goods
as a washing-machine and a car, they can spend less money in useless or perhaps harmful ways, for
example, on too much alcoholic drink. There is, however, the danger that when trade is bad, hire-
purchase buying may end suddenly and make trade much worse, with, as a result, a great increase in
unemployment.

Buibepume npasunvruiii gapuanm omeema.
11) The article is about ... .

a) the advantages of the hire-purchase system b) the disadvantages of the hire-purchase system
c) the peculiarities of the hire-purchase system d) the hire purchase system in Great Britain

12) ... the hire-purchase system became very popular in the twentieth century.

a) The article is devoted to b) The author starts by telling the reader that
c) The article is headlined d) The article goes on to say that

13) According to the text ... .
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a) the amount of goods bought by hire-purchase is more in the USA than in Great Britain
b) the amount of goods bought by hire-purchase is more in Great Britain than in the USA
c) the amount of goods bought by higher-purchase is equal in the USA and in Great Britain
d) people in Great Britain don’t like to buy goods by hire-purchase

14) The author writes that the commaodities usually bought by hire-purchase are ... .
a) durable goods b) undurable goods c) export goods d) inferior goods
15) The price of an article bought by hire-purchase is higher because ... .

a) its quality is usually higher b) higher purchase has advantages and disadvantages
c) the Government controls hire-purchase d) there is a charge for interest

IIpouTuTe TEKCT:
WHAT IS VOIP?

1) Voice Over Internet Protocol (VolP) is a new technology that uses broadband Internet and
network lines to transmit real-time voice information. This technology has the potential for completely
changing the way phone calls are made and making phone companies a thing of the past.

2) To make a phone call on the Internet, several things must happen. On the sending side, analog
voice signals are digitized, compressed, divided into packets and transmitted over network lines. On
the receiving end, the signals are recombined, uncompressed and converted back into audio. Because
the voice signals are digital, they can be transmitted just like any other data packets on a network.
VoIP can be relatively inexpensive to implement, although costs rise as the complexity of the system
increases.

3) There are currently several problems with this technology. If the computer or network lines
fail, then telephone service is interrupted. Though the stability of computer hardware, operating
systems and network infrastructure has improved significantly in the last decade, crashes still occur.
The "up" time of these systems is still significantly less than with traditional phone systems - which
often continue to function even during power outages. Another issue is that tracking the origin of a call
is difficult because the signals are transmitted over the Internet. This is especially important to
emergency responders to 911 calls. Caller ID service may not function either.

4) Additionally, devices that make calls using phone lines, such as fax machines, cable TV boxes,
etc. may not function properly. Law enforcement officials may have difficulty wiretapping phone lines
that use VolP technology. Finally, the quality of VVolP service is lower than that of a traditional phone
system. Since the information is transmitted over network lines, VolP phone calls may break up,
hesitate, or cause words to be dropped. All of these issues are being addressed and their significance
should be eliminated over time.

Omnpenenure, BIASETCS JIU YTBEPKICHUE!

16) With VolP technology it is easier to track the origin of a call.
a) UICTUHHBIM b) noxHBIM C) B TeKCTe HET UH(popMauu
17) VolIP technology is a possible threat for telephone companies.
a) UICTUHHBIM b) noxHBIM C) B TeKCTe HET UH(pOpMauu

18) VolIP is not a very expensive technology to implement.
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a) UICTUHHBIM b) moxuBIM C) B TEKCTE HET MH(MOpPMAIUU

VYkaxure, kakoit yactu Tekcta (1, 2, 3, 4) COOTBETCTBYET cienyromas nHpopMaius:
19) The stability of a VVoIP call is one of the problems this technology faces.

a)l b) 2 c)3 d) 4

20) Omnpenenute OCHOBHYO UCIO TEKCTA:

a) VolIP is not a very effective technology.

b) VolIP is a new and promising technology.

c) VolIP is rather inexpensive to implement.
d) Phone companies will soon disappear.
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ITpoMexyTouHas aTTecTalysl B IECTOM ceMecTpe (3a4eT) IPOBOAUTCS Ha OCHOBE BBIIIOJHEHUS TECTA
B MUCHbMEHHOU opMe, Oece bl CO CTYIEHTOM 110 TeMaM YCTHOM peuH.
Kontpoiaupyemsbie komnerenuuun: OK 01, OK 02, OK 04, OK 06, OK 09

Kpurtepun onenkmn:

Kpurepuii Ounenka no Ounenka no
100- TPAAUIHOHHO
0aJUIbHOM U IKaje
HIKaJIe
CryneHT nposBIII 3HAaHUE TPOrPAMMHOT0 MaTepHaia, 25-100 3aumeno

JIEMOHCTpHUPYET cHOPMUPOBAHHBIE (MHOTIA HE TTOJHOCTBHIO)
YMEHHUS U HaBBIKH, YKa3aHHBIE B IPOrpaMMe KOMIIETEHIINH,
yMeeT (B OCHOBHOM) CUCTEMAaTHU3WPOBATh MaTepUal U JeaTh
BBIBO/IBI

CTyIeHT He YCBOMJI OCHOBHOE COJIEp)KaHUE MaTepualia, He 0-24 He 3aumeno
yMEET CHCTEMAaTU3UPOBATh WH(OPMAIIHIO, JICJIATh BBIBOIBI,
YETKO ¥ TPaMOTHO OTBEUYATh Ha 3aJIaHHBIC BOIIPOCHI,
JEMOHCTPHUPYET HU3KUH YPOBEHD OBJIAJICHUS HEOOXOIMMBIMU
KOMITCTCHITUSIMU

Buier Ne 1
.Tect Ne 1 (Bec Bompoca - 0,04).

Bri6epute npaBuiibHBINA BapHaHT OTBETA:

1) My cousin ... to school every day.

a) goes b) go c) went is going

2) Yesterday I ... a nice dress at the shop.

a) buy b) buys c) bought d) am buying

3) They ... never ... to Washington.

a) has ... been b) have ... been c) have not ... been d) has not ... been
4) Hockey ... in winter.

a) plays b) is played c) is playing d) play

5) Where ... your daughter study?

a) has b) is c) does d) do

6) We shall be writing a test ... .

a) tomorrow b) at 2 p.m. tomorrow C) by 2 p.m. tomorrow d) yesterday

7) The place is worth ... .
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a) visit b) to visit C) visiting d) visited

8) We have much time at our disposal, we ... hurry.

a) needn’t b) cannot c) must d) should

9) London is ... than New York.

a) more old b) older c) the oldest d) the most old
10) Beibepurte npaBuIIbHBINA BapUaHT OTBETA:

a) | usually go to the Institute on foot.
b) I go to the Institute on foot usually.
c) | go to the Institute usually on foot.
d) To the Institute usually on foot I go.

Ilpoumume cmamoro. CoenacHo noayueHHou uHGopmayuu, 6vibepume NOOXOOAWUNL BAPUAHM
8bIpadicenus: 0 pehepuposaHusi.

BOOK YOUR PLACE IN NEW LITERARY CIRCLE

The newly organized book club is slowly gaining recognition (mpusnanue) and establishing its
members among the city's readers. “The club is really multinational — we’ve got people from UK,
Malaysia, Bolivia, Bulgaria, France, USA, Australia, Italy and Russia. Mostly our readers are
representatives of foreign countries but Russian people are also very active participants. All the
participants have totally different backgrounds (mpoucxoxxnenue), which makes club meetings even
more interesting. It doesn’t matter if you are a city council member or a financial controller or a
medical student or a teacher or an artist. They all come together to exchange books, to talk about them
and life in Moscow,” said the chairman Leila Korkelia.

The idea is globally popular — book swaps (00MmeH) exist online, and in the real world such events are
organized by universities and publishing houses. There’s no money involved — the club is sharing (to
share — nenuthest) good books, not making money. Anyone who has a book can add it to the selection,
pick out interesting titles from other guests and arrange a deal (coBepmmth caenky). Even if you have
no books at all, some members are happy to give books without wanting anything in return.

As Korkelia added: “For those who just recently arrived to live in Moscow, book club is a nice place to
socialize. For Russians it’s a good opportunity to practice the English language.”

Meetings are held once or twice a month, usually in a café somewhere in the city centre.

11) ... anewly organized book club in Moscow.

a) The author starts by telling the reader that

b) The article is about

c) In conclusion the author writes

12) ... the club is becoming popular among the city's readers.
a) The author starts by telling the reader that

b) The article is about

c) Further the author says that

13) ... among the participants there are people of different nationalities and professions.
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a) The author comes to the conclusion that
b) The article goes on to say that
c) The headline of the article | have read is

14) ... book swaps exist online and anyone can get a book free of charge.

a) According to the text
b) The article is devoted to
c) The author starts by telling the reader that

15) ... meetings are held in a cafe once or twice a month.

a) The main idea of the article is that
b) The author starts by telling the reader that
c) In conclusion the author says that

Hpoqmume mekcm.

SCIENCE AND INTERNATIONAL COOPERATION
One of the most striking features (otnnuurenbaas yepra) of modern science is the increasing tendency
towards closer cooperation between scientists and scientific organizations all over the world.
The exploration of space, world finance, global environment protection problems, the development of
new sources of power, such as atomic energy, are the examples of scientific research (ucciaenoBanue),
which are costly (moporoii) and complicated (cinoxwnsiit). That is why it is difficult for a single country
to solve these tasks in a short period of time. Space exploration (ocBoenme) programmes are conducted
between Russia, Austria, India, France, Sweden and other countries. Everyone is interested in the
possibility (Bo3amoxkHocTh) of Russia-US cooperation in space exploration. Joint scientific ventures
(mporpammsbi) for benefit (Beiroaa, monn3a, 6maro) of all mankind are a sign of mutual trust in human
cooperation that can only strengthen peace.
If we began to establish a cooperative relation in space today, this dream could be a reality. There is no
doubt (comuenue) that improved (ymyumennsie) relations between countries and cooperation in the
latest technology is the benefit of all mankind.

Buibepume npasunvruiil 6apuanm omeema:

16) The striking feature of modern science is ... .

a) increasing differences in scientific organizations

b) setting up scientific institutions all over the world

c) close cooperation of scientists

17) The development of new sources of atomic energy is ... .

a) not very expensive and this task may be solved in a short period of time
b) not a difficult task for a single country

c) very expensive and complicated task

18) Programmes of space exploration are conducted between ... .

a) India, Russia, Sweden and other countries
b) Austria, France, Switzerland and other countries
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c) Russia, Argentina, India, France and other countries
19) BeiGepute mpenioxkeHne, He COOTBETCTBYIOIIEE COIEPIKAHUIO TEKCTA!
a) Everyone is interested in Russia-US cooperation in space exploration.
b) The development of new sources of power is one of the examples of scientific research.
c) Nobody is interested in Russia-US cooperation in space exploration.
20) Beibepute npeasioskeHle, COOTBETCTBYIOIIEE CONEPKAaHHUIO TEKCTa:
a) Scientific ventures of space exploration are a sign of mutual trust but they can’t strengthen  peace.
b) Scientific programmes of space exploration are a sign of mutual trust and human cooperation.
¢) Scientific ventures of space exploration can’t strengthen peace.
Il. Becena no Teme “My family” (sec — 0,2).
Bbujer Ne 2
l. Tect Ne 2 (Bec Bompoca - 0,04).
Buvibepume npasunvhuiil 6apuanm omeema:
1) A computer usually ... information very quickly.
a) process b) processes C) is processing d) has processed
2) What ... you ... at that time yesterday?
a) was ... doing b)did ... do c) were ... doing d) have ... done

3) The parcel will have been delivered ... .

a) by 9 o’clock next morning b) at 9 o’clock in the morning
¢) tomorrow d) since 9 o’clock in the morning

4) First computers ... control machines at factories.

a) mightn’t b) couldn’t ¢) didn’t have to d) were not allowed to
5) English ... all over the world.

a) speak b) is speaking c) is spoken d) spoken

6) Mr. Brown heard a car ... near his home.

a) stop b) to stop c) to have stopped d) have been stopped

7) The lesson is over. You ... go.

a) can to b) need c) may to d) may

8) Manchester is ... than Glasgow.
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a) more big b) bigger c) the biggest d) the most big
Buvibepume npasunvhwiil 6apuanm nepesooa npeoyiodCeHus.:
9) TBos cecTpa cTajia XOPOIINM YUUTEIIEM.

a) Your sister has become a good teacher. b) Your sister had become a good teacher.
c) Your sister is a good teacher. d) Your sister is sure to become a good teacher.

Br16epute npaBuibHbINA BapUAHT OTBETA:
10) There was ... snow last year.
a) many b) much c) afew d) few
Hpoqmume cmamsro.
Train of Memory to visit WWII battlefields ahead of Victory Day

The Train of Memory carrying veterans of World War Two and young people will depart on Monday
from Russia's Baltic Sea exclave of Kaliningrad and head to Russia's Smolensk and Belarus's Brest as
part of WWII commemorations, the Kaliningrad region's government spokesman has said.

"More than 400 people, both the youth and veterans, will take part in this patriotic action, dedicated to
the 65th anniversary of the victory [in WWII]," the spokesman said.

He said the Kaliningrad residents travelling by the Train of Memory would visit a range of places in
Smolensk and its neighborhood, related to the history of WWII, including the Katyn forest, where
more than 20,000 Polish POWSs were massacred by Soviet secret police during the war.

The spokesman said the participants in the action would also visit the Brest Fortress in the Belarusian
city of Brest, which had been a scene of bloody battles between Nazi and Soviet troops during WWII.
Both Smolensk and Brest were declared Hero Cities for outstanding heroism during the Great Patriotic
War.

The Train of Memory will reportedly return to Kaliningrad on April 24.

During the memorial tour, the participants in the action are expected to issue "battle leaflets”, similar
to those which soldiers used to read during the war to learn the news, and a newspaper focusing on the
participants' impressions from the trip, the spokesman said.

Similar actions take place regularly in Russia. In previous years, the Train of Memory travelled from
Kaliningrad to Moscow, St. Petersburg and VVolgograd ahead of the Victory Day.

Buvibepume npasunvhuiil 6apuanm omeema:

11) ... Train of memory to visit WWII battlefields ahead of Victory Day.
a) The author of the article is

b) The headline of the article | have read is

c) The article is printed in

12) The main idea of the article is ... .

a) bloody battles between Nazi and Soviet troops during WWII
b) to issue battle leaflets focusing on the participants impression from the trip
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c) to give a coverage of the patriotic action undertaken by the youth and veterans of Kaliningrad to
celebrate the 65th anniversary of the Victory in WWII

13) The author starts by telling the reader about ... .

a) visiting a range of places in Smolensk related to the history of WWII and also the Brest Fortress in
Belarus by the Kaliningrad residents

b) the announcement made by the regional government representative regarding the departure of the
Train of Memory from Kaliningrad

c) the declaration of both Smolensk and Brest Hero Cities for outstanding heroism during the Great
Patriotic War

14) The article goes on to say that ... .

a) the participants in the action are sure to issue “battle leaflets” to share their impressions from the trip
b) the participants will visit the Katyn forest
c) the participants will also visit Moscow, St. Petersburg and VVolgograd

15) In conclusion the author writes that ... .

a) the Train of Memory will take veterans to Moscow, St. Petersburg and VVolgograd
b) more than 20,000 Polish POWSs were killed in the Katyn forest
c) the Train of Memory is a regular practice in modern Russia

Hpoqmume mexkcm.
DEEP TROUBLE

An experimental undersea telephone cable in the Canary Islands had to be lifted from the ocean floor
three times because of breakage (nencnpaBuocts). Each time sharks’ (akyna) teeth were found in the
damaged (moBpexnaennsiit) cable. Though the cable contains optical fibres transmitting signals in the
form of light, it carries a very small amount of electrical wires. It is known that electricity attracts
sharks. Therefore, ordinary electric power cables are usually provided with some kind of protection to
stop their being attacked by sharks. However, it was not expected that it was necessary to mount this
expensive protection on the new cable. But provided the designers had used this conventional
protection on the new cable, the sharks would not have approached it.

Buvibepume npasunvhuiil 6apuanm omeema:

16) What attracted sharks to the undersea telephone cable?

a) the specific heat emitted by it

b) an electrical current passing through the wires

c) light signals transmitted by optical fibres

17) Why did they have to lift the experimental undersea cable three times?
a) because it was damaged by sharks

b) because the Green peace movement insisted on it

c¢) because submarines attacked and tore out (pa3psiBaTh) the cable

18) Common electric power cables are as a rule equipped ... .

a) with an alarm system for warning divers
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b) with some kind of protection against sharks
c) with Dolby sound system

19) Beibepute BrIpakeHUE, COOTBETCTBYIOIIEE COACPIKAHUIO TEKCTA!
a) It was decided to install costly protection on the new cable.
b) The telephone people provided good protection for the experimental cable.
c) The telephone people failed to protect the new cable.
20) BeibepuTte BeIpakeHHE, HE COOTBETCTBYIOIIEE COACPIKAHUIO TEKCTA!
a) If the designers had put a necessary protection on the new cable it would have not been damaged by
E;]QI[EZ cable had been attacked by sharks many times.
c) After attacking the cables sharks were killed by a high voltage current.
Il. Becena no Teme “My working day” (sec — 0,2).
buser Ne 3
I. Tect Ne 3 (Bec Bompoca - 0,04).
Buvibepume npasunvhuiil 6apuanm omeema:
1) Ann usually ... much time on the home task.
a) spend b) spends c) is spending d) has spent
2) This building is ... than that one.
a) the most beautiful b) beautiful ¢) more beautiful d) beautifuller
3) Who has done it ... ?
a) already b) yet C) yesterday d) tomorrow
4) Excuse me, I ... for a phone box. Is there one near here?
a) am looking b) look c) are looking d) was looking
5) Computers ... in all spheres of life today.
a) use b) are used c) used d) is used
6) By the age of six Mozart ... already ... his first composition.
a) has ... written b) did ... write c) have ... written d) had ... written

7) Having lost the key, they ... get in.

a) couldn’t b) couldn’t to c) didn’t have to d) were not allowed to
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8) He gaveup ... .

a) to smoke b) smoke ¢) smoking d) having smoked
Buvibepume npasunvhwiil 6apuanm 6onpoca K npeoylodnCeHuio:

9) Students take exams twice a year.

a) How often students take exams?

b) How often do students take exams?

¢) How often students do take exams?

d) How often did students take exams?

Buvibepume npasunbhblil sapuanm omeema.:
10) Statistics is a science ... with study of numeral facts and data.

a) being dealt b) having dealt c) dealing d) having been dealt
Hpoqmume cmamsro.!

CASTRO REESTABLISHES SOVIET-ERA LINKS
Cuban President Raul Castro visited the Russian capital in a historic trip in order to reestablish (BHOBB
ycranoButh) links with the former (ObiBuIuit) Soviet Union.
Castro’s eight-day official visit began last week. He came to Russia after President Dmitry Medvedev
paid a visit to Cuba in November.
At a Kremlin meeting, the two presidents signed agreements including a state loan (3aem) of $ 20
million, food aid, and funds to import Russian civilian (rpaxxmanckuii) and military aircraft
(aBHaTexXHUKA).
The head of Russia’s Latin America Institute said that the main area of cooperation between Russia
and Cuba was energy. He said that with Russia’s help Cuba would develop oil fields on the coast
(mobepexne) and even become an energy exporter. He pointed out two other important sectors —
civilian aviation and pharmaceuticals. Cuba makes some of the best medicine in the world, and Russia
could benefit from its relatively cheap prices. Meanwhile, Aeroflot plans to form a joint venture
(coBmectHoe mpemanpusaTue) with Cuba’s national airline, which could encourage (cmoco6cTBOBaTH)
Russian tourism in Cuba.
Experts say that geopolitically, the dozens of agreements signed during the latest Castro’s visit to
Russia demonstrate not so much an attempt to annoy (pa3znpaxatsb, gocaxkaarb) Washington, but are
part of Moscow’s effort (mombiTka, ycuue) to build up its trade and investment strategy in Latin
America.

Coenacro codepofcanuio mecma, 6bl6epume I’lpa(%u]lebllZ eapuarnm omeema.

11) The author starts by telling the reader that the purpose of Raul Castro’s visit to Russia was ... .
a) to violate a treaty with the Soviet Union

b) to resume relations with Russia

c) to tour the Russian Federation

12) According to the text it was ... .

a) a return official visit b) an eight-day working visit ¢) an unofficial friendly visit
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13) The article goes on to say that in Kremlin the two presidents ... .

a) exchanged information on the USA
b) received a delegation of Russia’s Latin American Institute
c) signed a number of agreements

14) The author points out that Russia and Cuba cooperate in ... .
a) energy b) energy and engineering c) energy, civil aviation and pharmaceutical
15) The author comes to the conclusion that Castro’s visit demonstrates Russia’s attempt to ... .

a) annoy Washington b) establish economic relations with Latin Americac) form a joint venture
with Cuba’s national airline

Hpoqmume mekem.
Kulibin is one of the Most Talented Engineers

Kulibin was the first to think of spanning the river with an arched bridge. According to his plan the
bridge was to have a single span to leave a free waterway for ships and barges. It was a daring idea:
arched bridges of similar construction had been built before but no engineer dared even to think of
constructing a bridge with a three hundred metre span.

Kulibin set to work at his design with a deep determination to carry out his plan. Working at three
models in succession he tried each time to improve his design, to verify every detail of his computation
by careful experimenting so as not to admit the slightest error. At last he succeeded in making a
construction which is made use of even in our days.

After the model was completed it had to be submitted to a special commission set up by the Academy
of Sciences. At the time of Catherine Il the Academy was invaded by foreign scientists and specialists
who thought themselves to be much superior to Russian people whose intellect and talent.

No Russian was expected to possess higher skill and knowledge than a representative of West
European culture. Only one of the academicians — the great mathematician ruler — acknowledged
Kulibin’s genius: he carefully studied all his drafts and computations and found them to be quite
correct.

All the rest of the academicians were sure that the model being tested would prove a failure.

Onpeoenume, aeniemcs 1u OAHHOE BbICKA3bIGAHUE:!

a) UICTUHHBIM b) noxubIM C) B TeKCTE HET UH(OPMAIIIH.

16) All the academicians were in favour of his decision and hoped it would be a success.
17) Kulibin received a lot of proposals to build such bridges abroad.

18) Kulibin designed a river bridge with a huge single span that turned out to be a new idea in bridge
construction.

19) BriGepute mpeioxkeHne, COOTBETCTBYIOIIEE TEKCTY:

a) Foreigners working in the Academy didn’t think high of engineering skill and ability of Russian
people.
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b) Guest scientists found Russian scientific society equal by intellect and talent.
c) The Academy of science invaded by foreign people did a lot to develop Russia.

20) BeiGepuTte npeaiokeHnue, He COOTBETCTBYIOIIEE TEKCTY:

a) The representatives of West European culture despised the country where they lived and worked.

b) Many academicians supported Kulibin’s idea to build an arched bridge.

c) Only one academician believed in Kulibin and helped him to defend his design.

Il. Becena o Teme “Flat” (Bec — 0,2).
Bujer Ne 4

. |. Tect Ne 4 (Bec Bonpoca - 0,04).
Bvibepume npasunvhwiii 6apuanm omeema:
1) They ... Russian to the teacher in class. They speak English.
a) do speak b) don’t speak ¢) aren’t speak d) speaks
2) We didn’t finish this work yesterday, ... ?
a) didn’t we b) weren’t we c) did we d) were we
3)I... never ... to Moscow.
a) have ... been b) has ... been ¢) had ... been d) have not ... been

4) She will have written this article ... .

a) tomorrow b) by 3 o’clock tomorrow c¢) at 3 o’clock tomorrow
tomorrow

5) This exercise is ... than that one.

a) easy b) easier C) more easy d) the easiest

6) Yesterday we ... to the café by John Jenkins.

a) was invited b) invited c) were invited d) had been invited
7) Nobody answers the phone. They ... be out.

a) should b) must C) can d) could

8) She ... them an interesting story when I came home.

a) was telling b) were telling c) told d) is telling

9) ... the wrong direction we lost our way.

a) showing b) having shown ¢) having been shown d) being shown

d) since 3 o’clock
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Buvibepume npasunvhwiii 6apuanm nepegooa:
10) I want my children to speak English fluently.

a) 51 X049y TOBOPHUTH CO CBOMMHU JIETbMH Ha aHIJIMHCKOM SI3bIKE CBOOOTHO.

b) XKasb, 4TO MOM I€TH HE TOBOPST HA AHTJIIMHCKOM SI3BIKE CBOOOJIHO.

C) S xouy, YTOOBI MOM JI€TH TOBOPUJIM HA AHTJIMHCKOM SI3bIKE CBOOOIHO.

d) XKaiib, 4TO 51 HE MOTY TOBOPUTH CO CBOMMH JICThbMH Ha aHTJIMHCKOM SI3bIKE CBOOOJIHO.

Hpoqmume cmamsio.”

ST. PETERSBURG MARKS ANNIVERSARY OF SIEGE
ST. PETERSBURG (RIA Novosti) — St. Petersburg is marking on Tuesday the 65-year anniversary
since the end of a 900-day Nazi blockade, one of the most dreadful sieges (ocama) in modern world
history.

“This is a tragic and heroic page in our history,” St. Petersburg Governor Valentina Matviyenko said in
a congratulatory message. “The defenders (3ammrHukm) and residents of the city underwent
(monBepranuck) unthinkable trails (ucmbiTanusi) — starvation (rosmon), bitter cold, bombardments. Our
city lived on, fought and worked.”

The Siege of Leningrad, now St. Petersburg, lasted from September 1941 to January 1944, when food
and military supplies (3amacer) were brought to the city via Lake Ladoga, the only route named the
Road of Life that connected the city with the mainland.

At least 800,000 people died in Leningrad during the siege, according to official figures.

In January 1942, in the unusually cold winter, the city’s food rations reached an all time low of only
125 grams (about ¥4 of a pound) of bread per person a day. In just two months, 200,000 people died in
Leningrad of cold and starvation.

The date is widely celebrated in the city and across the country. Wreath-laying (Bo3noxeHre BEHKOB)
ceremonies are held at St. Petersburg’s memorial cemeteries, attended by blockade survivors, WWII
veterans and city officials. Charity (6marorBopurensHocTb) concerts, exhibitions and other events are
also on the program.

President Dmitry Medvedev, who was born in St. Petersburg, is on a visit to the city. On Tuesday, he
laid flowers at a war monument at the Piskaryovskoy Memorial Cemetery, the resting place for over
500,000 people who perished during the siege, and attended a reenactment of the WWII battle that
ended the siege.

Cozenacro coc)epofcaHuio mecma, 6bl6€pum€ npa@uﬂbelZZ eapuarnm omeema.
11) The article is devoted to ... .

a) a 900-day Nazi blockade

b) Dmitry Medvedev visit to St. Petersburg

c) celebrating the 65-year anniversary since the end of the siege of Leningrad
12) The author starts by telling the reader that ... .

a) 800,000 people died in Leningrad during the siege

b) the city Governor congratulated the citizens on the anniversary

c) Valentina Matviyenko underwent many trials during the siege

13) Further the author lists some facts and figures in order to ... .

a) give the reader some information on the president’s visit to the city
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b) provide the reader with some data on the siege
c) describe Lake Ladoga

14) According to the text the celebration program includes ... .
a) wretch-laying ceremonies, charity concerts, exhibitions, etc.
b) starvation, bitter cold and bombardments

c) 125 grams of bread per person

15) In conclusion the author ... .

a) describes a reenactment of the WWII battle that ended the siege
b) writes about some famous people who were born in St. Petersburg
C) writes about President’s visit to the city

Hpoqmume mexkcm.

OUR PLANET EARTH
Today, our planet is in serious danger. Acid rains, global warming, air and water pollution,
overpopulation are the problems that threaten human life on Earth.
Our forests are disappearing because they are cut down or burnt. If this trend continues, one day we
won't have enough oxygen to breathe.
The seas are in danger. They are filled with poison: industrial and nuclear waste, chemical fertilisers
and pesticides.
Every ten minutes one kind of animal, plant or insect dies out for ever. If nothing is done about it, one
million species that are alive today may soon become extinct.
Air pollution is another serious problem. In Cairo just breathing the air is dangerous — equivalent to
smoking two packs of cigarettes a day. The same holds true for many Russian cities.
Factories emit tons of harmful chemicals. These emissions have disastrous consequences for our
planet. They are the main reason for the greenhouse effect and acid rains.
Fortunately, it's not too late to solve these problems. We have the time, the money and even the
technology to make our planet a better, cleaner and safer place. We can plant trees and create parks for
endangered species. We can recycle litter. We can support green parties and put pressure on those in
power. Together we can save the planet and all of us with it.

Onpedenume, a6nsiemcs au ciedyioujee 8biCKa3vbleaHue:

a) UICTUHHBIM b) noxubIM C) B TeKCTE HET UH(OPMAIIIH.

16) Today, our planet is in such serious danger that we can do nothing about it.
17) The air in many Russian cities is as dangerous as in Cairo.

Buibepume npasunvruiii apuanm omeema.

18) Extinction is ... .

a) for ever b) for a while c) for a long time

19) Acid reins are caused by ... .

a) factories emissions b) extinction of the seas c) global warming

20) B tekcte BoIpaxkenue greenhouse effect mepeBoaurces kak

a) IeHCTBUS MapTUHU 3€TICHBIX
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b) a3 pexTrBHBIE MEPOTIPHUATHS 1O 03CICHEHUIO JOMOB
C) MapHUKOBBINA AP PeKT

Il. Becena o Teme “Great Britain (sec — 0,2).
buser Ne 5
l. Tect Ne 5 (Bec Bompoca - 0,04).
Bvibepume npasunvhwiii 6apuanm omeema:
1) Hockey ... in winter.
a) play b) is playing c) plays d) is played
2) London is ... than New York.
a) older b) more old c) the most old d) the oldest
3) Where ... your daughter study?
a) does b) do C) has d) is
4) My cousin ... to school every day.
a) goes b) go c) went is going
5) We have much time at our disposal, we ... hurry.
a) must b) cannot ¢) should d) needn’t
6) Yesterday I ... a nice dress at the shop.
a) am buying b) buy c) buys d) bought
7) We shall be writing a test ... .
a) tomorrow b) by 2 p.m. tomorrow c) at 2 p.m. tomorrow d) yesterday
8) They ... never ... to Washington.
a) has ... been b) has not ... been c¢) have not ... been d) have ... been
9) The place is worth ... .
a) visited b) visiting C) to visit d) visit
Bvibepume npasunvhbili 6apuanm omeema:
10) The interview ... by the President was devoted to economic problems.
a) having given b) given c) being given d) having been given
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IIpoumume cmamuio:

ADS TO BE ABANDONED
The Chairman of the Moscow Committee for Heritage (macnenue), Valery Shevchuk, announced on
the same day that Tverskaya, Varvarka and Ordynka Ulitsas should be included in the advertising free
Zone.
Few people would deny (to deny - orpumars, onposeprarts) that Moscow has a lot of advertising.
“I think that it is unusual for a capital with such historic value as Moscow to be using as much
advertising,” one marketing expert told The Moscow News. “In general, Moscow is quite a big market.
It is unusual for 16 or 17 percent of available space to be given over to outdoor advertising, as Moscow
has done. London, for example, has only 2-3 percent.”
Official estimates (moacyet) are that the city will lose around 100 million rubles in revenue (moxon).
“That’s close to our estimate,” Andrei Berezkin told The Moscow News. “Advertising of this kind
around Moscow earns the city around $15 million a year, the total revenue from all kinds of
advertising is about $800 million,” he said.
The phasing out (mosTanmHoe cokpamienue) of advertising is to happen over the course of this year, and
it will be difficult to anticipate how the cityscape will change.
“I have doubts about whether advertising will be scaled down (to scale down - cHmxkatp) to this
extent,” the marketing expert said. “Very often nothing happens when such intentions are declared, it
can be nothing more than rhetoric to win internal battles between outdoor advertisers. Luzhkov is
ready to discuss the issue.”

Buvibepume npasunvhuiil 6apuanm omeema:
11) The article is devoted to ... .

a) losing 100 million rubles
b) the positive effect of advertising in large cities
¢) the removing outdoor advertising from Moscow’s areas of historical importance

12) The author starts by telling the reader that ... .

a) it is harmful for Moscow with its historical value to use much advertising
b) Tverskaya, Varvarka and Ordynka Ulitsas should be included in the advertising free zone
c¢) Valery Shevchuk thinks that Moscow hasn’t a lot of advertising

13) According to the text ... .

a) as a rule world capitals give 16 or 17 percent of available space to outdoor advertising

b) Paris has given only 4 percent to outdoor advertising

) 16-17 percent of available space in Moscow is given to outdoor advertising

14) The article goes on to say that ... .

a) it is unprofitable for Moscow to have all kinds of advertising

b) the city would lose around 100 mln roubles if it removes outdoor advertising from Moscow’s areas
of historical importance

c) citizens are indifferent to the advertising placed in historical territories

15) In conclusion the author says that ... .

a) without advertising the cityscape will change
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b) the major of Moscow is ready to discuss the problem
¢) nothing happens in solving this issue

Hpoumume mexkcm.

WE MAY HAVE NO CHOICE
We've climbed the highest mountains, conquered the deepest oceans and crossed the widest deserts. It
seems there's little left for us to see on this planet. So what's next?
Space, of course. The idea of living on a space station or in a lunar city may sound like science fiction,
but a hundred years ago no one even heard of an aeroplane — yet today more than 500 million people
a year travel by air.
We may have no choice, in any case.
The world's population is growing at a rate of 97 million a year. It means that by the middle of the
century there will be so many people on our planet that if everyone in India jJumped up and down at the
same time, it would cause a tidal wave big enough to cover Europe.
Greenpeace warns that if we continue to burn fossil fuels at the same rate as we do today, global
warming will reach catastrophic levels. They predict sinking continents and severe drought. Add to
that the problems caused by hunger, disease, war and natural disasters, and you will see why space
agencies across the globe are pouring millions of dollars into space research.
The first pieces of the International Space Station have been launched — a giant project which will
allow scientists to carry out ground-breaking research in technology and medicine and see just how
long people can live in space.
So sometime in this century we might very well see the emergence of a space generation — that means
humans born and raised somewhere other than Earth.

Onpedeﬂume, A6n1emcs iU OanHoe 8blpa.9fC€H1/l€:

d) UICTUHHBIM b) noxHbIM C) B TeKcTe HET uHpopMau

16) Space exploration is carried out for the good of the whole mankind.
17) The world’s population has stopped growing.

18) The Soviet Union was the first to launch a space station.
3akoHuHUTE MMPECAJIOKCHUC:

19) Global warming is caused ... .

a) by burning fossil fuels on a large scale

b) by carrying out ground-breaking research in technology

c) by Greenpeace warnings

20) Space research helps to find ways to protect the mankind from ... .
a) terrorism, drug trafficking, hunger

b) hunger, disease, war, natural disasters

c) disease, aggression, natural disasters

II. Becena mo Teme “London” (Bec — 0,2).
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Buner Ne 6
I. Tect Ne 6 (Bec Bompoca - 0,04).
Buvibepume npasunvhuiil 6apuanm omeema:
1) Mr. Brown heard a car ... near his home.
a) have been stopped b) to have stopped c) to stop d) stop
2) Manchester is ... than Glasgow.
a) bigger b) the biggest c) the most big d) more big
3) A computer usually ... information very quickly.
a) has processed b) process C) processes d) is processing
4) First computers ... control machines at factories.
a) didn’t have to b) were not allowed to ¢) mightn’t d) couldn’t
5) What ... you ... at that time yesterday?
a) was ... doing b) were ... doing c) have ... done d)did ... do
6) The lesson is over. You ... go.
a) need b) may to C) may d) can to
7) English ... all over the world.
a) is speaking b) is spoken c) spoken d) speak
8) The parcel will have been delivered ... .

a) at 9 o’clock in the morning  b) since 9 o’clock in the morning
¢) by 9 o’clock next morning d) tomorrow

Buvibepume npasunvhuiil 6apuanm omeema:

9) We haven’t seen this film ... and as to Jane, she saw it ... .

a) already, just now b) yet, already C) yet, last month d) last month, just
Buvibepume npasunvhwiil 6apuanm nepesooa npeoyiodCeHus.:

10) TBos cecTpa cTajia XOPOUIUM YUUTEIIEM.

a) Your sister is a good teacher. b) Your sister is sure to become a good teacher.

¢) Your sister has become a good teacher. d) Your sister had become a good teacher.
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Hpoqmume cmamsro.!

NATO REOPENS TALKS WITH RUSSIA
The Western military alliance agreed to reopen talks at the NATO-Russia Council in a meeting of 26
foreign ministers in Brussels on Wednesday.
NATO and Russia play an important role in maintaining European and global security, RIA Novosti
quoted (to quote - mutmpoBath) NATO Secretary General Jaap de Hoop Scheffer as saying on
Thursday morning.
“While not shying away (to shy away - ykmonsartbcs) from the serious differences of opinion that
remain between NATO and Russia, in particular about Georgia, we also acknowledge (npu3naBathb)
that we have obvious common interests with Russia: Afghanistan is one, but counterterrorism and the
fight against WMD (Weapons of Mass Distraction — opyxwue maccoBoro nopaxenus) proliferation
(pacmpoctpanenmue) are others,” Scheffer said, The Associated Press reported.
U.S. Secretary of State Hillary Clinton endorsed (to endorse - noanepxxats) the resumption of talks,
signalling a dramatic change of attitudes in Washington since President Barack Obama took office. “It
is time to move ahead, not wait in place with the illusion that things will change on their own,” she
said, AFP reported.
Relations between Russia and the United States have seen considerable improvements since Obama’s
inauguration in January. Foreign policy analyst Ivan Safranchuk said he saw two catalysts
(xataymmzaropsl) for the recent decision Russia’s agreement to allow transit for cargo (rpy3) bound for
NATO troops (Boiicka) in Afghanistan, and the positive signals coming from the Obama
administration.
The New York Times reported last week that Obama had sent a letter to President Dmitry Medvedev,
offering to scrap the controversial (copsslit) missile shield program in Eastern Europe if Moscow
could get (3acraButh) Iran to scrap its nuclear weapons programme. The Kremlin denied that it was
offered the bargain (caenka), and Obama later denied sending the letter.

Buvibepume npasunvnuiii 6apuanm omeema:

11) The author starts by telling the reader that NATO decided ... .

a) to arrange a meeting of 26 foreign ministers in Brussels on Wednesday

b) to resume talks with Russia

c) to restore the NATO-Russia Council

12) According to the text Russia and NATO have different points of view about ... .
a) Afghanistan b) counterterrorism c¢) Georgia

13) The article goes on to say that U.S. Secretary of State ... .

a) approved the resumption of talks

b) suggested to wait until things change on their own

¢) changed her attitude to President Barack Obama

14) The author points out that since Obama’s inauguration relations between Russia and the United
States ... .

a) have become better b) have changed for the worse c¢) haven’t changed much
15) The New York Times’ information on Obama’s letter to President Dmitry Medvedev was ... .

a) confirmed by both sides b) spreaded in Eastern Europe c) disproved by both sides
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Hpoqmume mekem.

"SMOG" WAS INVENTED IN BRITAIN
It was in Britain that the word "smog" was first used (to describe a mixture of smoke and fog). As the
world's first industrialized country, its cities were the first to suffer this atmospheric condition. In the
19th century London's "pea-soupers” (thick smogs) became famous through descriptions of them in the
works of Charles Dickens and in the Sherlock Holmes stories. The situation in London reached its
worst point in 1952.
At the end of that year a particularly bad smog, which lasted for several days caused about 6,000
deaths.
Water pollution was also a problem. In the 19th century it was once suggested that the Houses of
Parliament should be wrapped in enormous wet sheets to protect those inside from the awful smell of
the River Thames. People who fell into the Thames were rushed to hospital to have their stomachs
pumped out!
Then, during the 1960s and 1970s, laws were passed which forbade the heating of homes with open
coal fires in city areas and which stopped much of the pollution from factories. At one time, a scene of
fog in a Hollywood film was all that was necessary to symbolize London. This image is how out of
date, and by the end of the 1970s it was said to be possible to catch fish in the Thames outside
Parliament.
However, as in the rest of western Europe, the great increase in the use of the motor car in the last
quarter of the 20th century has caused an increase in a new kind of air pollution. This problem has
become so serious that the television weather forecast now regularly issues warnings of "poor air
quality”. On some occasions it is bad enough to prompt official advice that certain people (such as
asthma sufferers) should not even leave their houses, and that nobody should take any vigorous
exercise, such as jogging, out of doors.

16) 3aBepiuTe IpeaIOKCHHE:

Britain cities suffered atmospheric condition because ... .

a) there were too many industrial enterprises in Britain

b) there were a lot of agricultural districts there

c) Charles Dickens described thick smogs in his works
Omnpenenure, SBISETCS JIU CIEAYIONIEE MPEITIOKCHUE:

a) UICTUHHBIM b) noxHBIM C) B TeKCTE HET UH(OPMAIIIH.

17) Britain laws didn’t permit the heating of homes with open coal fires in the city areas.

18) Now it is all that is necessary to symbolize London in a Hollywood film is a scene of fog.
Buibepume npasunvruiil 6apuanm omeema:

19) A new kind of air pollution in Europe is ... .

a) the use of coal while heating the homes b) the use of wet sheets
c) the use of the motor car

20) It was suggested to wrap the Houses of Parliament in wet sheets in order ... .
a) to protect it from the flood of the River Thames
b) to protect it from water pollution

c) to protect it from the harmful smell
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II. Becena mo teme “About my family and myself” (Bec — 0,2)

Buser Ne 7
l. Tect Ne 7 (Bec Bonpoca — 0,04).

Buvibepume npasunvhuiil 6apuanm omeema:

1)Hegaveup ....

a) having smoked b) smoking c) smoke d) to smoke

2) This building is ... than that one.

a) beautifuller b) more beautiful c) beautiful d) the most beautiful
3) Computers ... in all spheres of life today.

a) is used b) used c) are used d) use

4) Ann usually ... much time on the home task.

a) spends b) spend c) has spent d) is spending

5) Who has done it ... ?

a) tomorrow b) yesterday c) yet d) already

6) Excuse me, I ... for a phone box. Is there one near here?

a) was looking b) am looking c) look d) are looking

7) Having lost the key, they ... get in.

a) didn’t have to b) couldn’t to c¢) were not allowed to d) couldn’t
8) By the age of six Mozart ... already ... his first composition.

a) had ... written b) have ... written ¢) has ... written d) did ... write
Onpeoenume yHKYUIO UHGUHUMUBA 8 NPEONONHCEHUL:

9) To do this means changing the whole system.

a) 00CTOSITEECTBO b) momexariee C) JIOTIOJIHEHHE d) yacTe COCTaBHOTO CKa3yeMOro
Buibepume npasunvruiil 6apuanm onpoca Kk npeonortceHuo:

10) Students take exams twice a year.

a) How often students do take exams? b) How often did students take exams?
c) How often students take exams? d) How often do students take exams?
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Hpoqmume cmamsio.”
Pulp mill near Lake Baikal to reopen in May despite protests

A controversial pulp mill (memmono3no-0ymaxusiii komOuHat) on the shores of Lake Baikal will
return to full production in May despite large-scale public protests, the Industry and Trade Ministry
said on Tuesday.

The Baikal Pulp and Paper Mill stopped commercial production 18 months ago, after its switch
(mepexon) to a closed-water cycle to ease (obmeruuts) environmental problems proved unprofitable.
Andrei Dementyev, a deputy minister, said Russia's environmental regulator still had some questions
regarding the plant's operation but they would be considered (to consider — paccmarpuBats) and the
pulp mill would reopen in May.

Environmental protests broke out after Prime Minister Vladimir Putin signed a resolution in mid-
January excluding (to exclude — uckmrouats) the production of pulp, paper and cardboard from the list
of operations banned (to ban — 3anpemiars) in protected areas around Lake Baikal, which is a
UNESCO World Heritage Site.

A public campaign to close or convert the Baikal Pulp and Paper Mill built in 1966 on the shores of the
world's largest freshwater lake became one of the symbols of Glasnost, the "openness” policy
proclaimed by Soviet leader Mikhail Gorbachev in the late 1980s.

It involved the nation's leading statesmen and literary figures and forced (to force — 3acraBisTh,
BEIHYKIaTh) the Soviet authorities to promise to stop pulp production by 1993.

The collapse of the Soviet Union in 1991 delayed (to delay — orcpounBars) the plant's closure, and it
was only in October 2008 that the plant switched over to a closed water cycle, preventing the discharge
of waste (copoc orxomoB) into the lake.

In late December 2009, the Baikal mill started testing new equipment ahead of its expected restart of
operations this year.

Bvibepume npasunvhbili 6apuanm omeema:
11) The main idea of the article is that ... .

a) the collapse of the Soviet Union delayed the closure of the Baikal Pulp Mill
b) the Baikal Pulp Mill will reopen despite public protests
c) the Baikal mill started testing new equipment

12) The author starts by telling the reader that ... .

a) the Industry and Trade Ministry announced that the Baikal Pulp would reopen in May
b) large-scale public protests against the Industry and Trade Ministry were held in May
c) a controversial pulp mill will be built on the shores of Lake Baikal

13) The author writes that the Baikal mill stopped commercial production because ... .

a) its switch to a closed-water cycle failed to solve environmental problems

b) Prime Minister Vladimir Putin signed a resolution excluding the production of pulp from the list of
banned operations

c) its switch to a closed-water cycle turned out to be unprofitable

14) According to the text a public campaign to close the Baikal Pulp Mill ... .
a) involved well-known statesmen and writers
b) was initiated by Prime Minister VIadimir Putin

c) caused the collapse of the Soviet Union
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15) In conclusion the author writes that the Baikal mill ... .

a) will test new equipment after it restarts its operation
b) has already started testing new equipment
C) restarted its operation in December 2009

Hpoumume mekcm.

WHY ARE WE SO EXCITED ABOUT THE INTERNET?
What exactly is it that gets us all so excited about the Internet?
As well as being a global network of networks, the Internet is a global network of people, ideas and
information. The Net is as interesting and exciting as the people, organisations, companies,
governments and weirdoes that are connected to it.
There is another thing that's exciting about the Internet. Like love and life, the Net is what you make it.
If you don't like what's happening on one part of the network, you can build yourself a whole new
cybercity, appoint yourself as mayor and run it exactly as you want.
The Internet enables you to do a lot of things simultaneously. You can read the latest copy of your
favourite newspaper while planning your night's TV viewing and ordering some cheap CDs from an
American discount disc store.
You can send e-mail to someone you've never met before ... Some people have "met" over the Internet
and got married.
The first web browsers only supported simple texts and images, but now a multitude of multimedia
plug-ins enables webpages to sing and dance.
From PC banking to online shopping and chats with celebrities, the Internet is already changing our
lives. The arrival of digital TV promises even more exciting things.

Onpedenume, a6715emcs iU OGHHOE BbICKA3bIBAHUE:

a) UICTUHHBIM b) noxubIM C) B TeKCTe HET UH(pOopMauu
16) the Internet has become an integral part of our life.

17) Digital TV is likely to replace the Internet in the near future.
18) The Internet is forbidden in some Islamic states.

19) BriGepute npeioxkeHne, COOTBETCTBYIOIIEE TEKCTY:

a) The Internet doesn’t make it possible to do a lot of things at a time.
b) The Internet broadcasts sporting events all over the world.

c) The Internet is widely used in economic activities.

20) BribepuTe npaBUIIbHBINA BAPHAHT OTBETA:

You can send E-mail ... .

a) to anybody

b) to someone you’ve met before

¢) the people you have “met” over the “”’Internet

I1. Becena o Teme “The political system of Great Britain” (Bec — 0,2).
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bujer Ne 8
.Tect Ne 8 (Bec Bonpoca — 0,04).

Buvibepume npasunvhuiil 6apuanm omeema:

1) She ... them an interesting story when I came home.

a) were telling b) is telling c) was telling d) told

2) They didn’t finish this work yesterday, ... ?

a) were they b) did they ¢) weren’t they d) didn’t they

3) This exercise is ... than that one.

a) easier b) more easy c) the easiest d) easy

4) ... the wrong direction we lost our way.

a) being shown b) having been shown c) having shown d) showing
5) They ... Russian to the teacher in class. They speak English.

a) don’t speak b) do speak c) speaks d) aren’t speak

6) I ... never ... to Moscow.

a) have not ... been b) have ... been c¢) has ... been d) had ... been
7) She will have written this article ... .

a) by 3 o’clock tomorrow  b) at 3 o’clock tomorrow  c¢) since 3 o’clock tomorrow  d) tomorrow
8) Nobody answers the phone. They ... be out.

a) must b) can c) could d) should

9) Yesterday we ... to the café by John Jenkins.

a) invited b) had been invited ) was invited d) were invited
Buibepume npasunvruiil 6apuanm nepesooa:

10) I want my children to speak English fluently.

a) XKaJp, 4TO MOHM JICTH HE TOBOPST HA AHTJIMICKOM SI3bIKE CBOOOTHO.

b) Xasb, 4TO 5 HE MOT'Y TOBOPUTH CO CBOMMH JIE€THbMH Ha aHTJIIMHCKOM SI3bIKE CBOOOJIHO.

C) S xouy, YTOOBI MOM JI€TH TOBOPUJIM HA AHTJIMHCKOM SI3bIKE CBOOOIHO.
d) 51 xo4y rOBOPUTH CO CBOMMH JIETHMHU HA QHTJIMHCKOM SI3bIKE CBOOOTHO.



IIpoumume cmampwio:
US POLICY LED TO GLOBAL CRISIS

“It is precisely the gap (mpomactsb, pa3pbiB) between the United States’ formal role in the world
economy and its real capabilities that was one of the key reasons for the current crisis,” Medvedev told
top business executives in St. Petersburg.

The current downturn (cnag) happened in part because the “aggressive financial policies of the world's
biggest economy led not only to the failure (mpoBan, Heynaua) of corporations. The majority of people
on the planet have grown poorer,” he said.

The very fact that President Medvedev gave extensive coverage (0030p) to economic problems may
indicate that he is becoming an independent and strong national leader. Before the speech was
delivered many observers suggested that Medvedev would leave the economic questions to Prime
Minister Vladimir Putin and concentrate on political issues instead. However, Medvedev made it clear
that he has some tough positions of his own concerning the economy.

“Russia is a global player,” the Russian president said. “We understand our responsibility for the fate
of the world and want to participate in forming the rules of the game, not because of so-called imperial
ambitions, but because... we have the resources.”

Foreign leaders and observers have been criticizing Russia recently for using its energy resources as a
political lever, but Medvedev countered this view by reversing the argument and presenting ownership
of resources as a value to be defended (to defend - 3amumars) — a previously unused argument.
Secretary Carlos Gutierrez said that the current global economic condition was a downturn and not a
crisis, but did not defend his country’s position.

Buvibepume npasunvrwiii 6apuanm omeema.
11) The article is devoted ... .

a) to the origin of global crisis b) to Russia’s internal economic problems
c) to a downturn in world economy

12) The aim of the article is to provide the reader with some material on ... .
a) the global crisis as viewed by Russian President

b) the global peace movement

c) economic development

13) The author starts by telling the reader about ... .

a) US policy in the world

b) the speech of D. Medvedev at St. Petersburg Economic forum
c) the view of US Commerce Secretary Carlos Gutierrez

14) The article goes on to say that ... .

a) foreign leaders approve of Russia’s recent energy policies

b) the West doesn’t consider Russia a global player

c) Russia begins to play an increasing role in the world economy

15) The author comes the conclusion that ... .

a) Medvedev’s speech was of great interest to foreign businessmen and political leaders
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b) Russia was to hold talks with US authorities
¢) Russia should ignore the fate of the world
Hpoqmume mekem.

SCIENCE AND INTERNATIONAL COOPERATION
One of the most striking features (oTmunrensHas yepta) of modern science is the increasing tendency
towards closer cooperation between scientists and scientific organizations all over the world.
The exploration of space, world finance, global environment protection problems, the development of
new sources of power, such as atomic energy, are the examples of scientific research (uccnemoBanue),
which are costly (moporoii) and complicated (cmoxwusrit). That is why it is difficult for a single country
to solve these tasks in a short period of time. Space exploration (ocBoenue) programmes are conducted
between Russia, Austria, India, France, Sweden and other countries. Everyone is interested in the
possibility (Bo3amosxHocTsh) of Russia-USA cooperation in space exploration. Joint scientific ventures
(mporpammsr) for benefit (Beirona, moas3a, 6yaro) of all mankind are a sign of mutual trust in human
cooperation that can only strengthen peace.
If we began to establish a cooperative relation in space today, this dream could be a reality. There is no
doubt (comuenwue) that improved (ymyumenusie) relations between countries and cooperation in the
latest technology is the benefit of all mankind.

Buibepume npasunvrulll 6apuanm omeema:

16) The striking feature of modern science is ... .

a) increasing differences in scientific organizations

b) setting up scientific institutions all over the world

c) close cooperation of scientists

17) The development of new sources of atomic energy is ... .

a) not very expensive and this task may be solved in a short period of time

b) not a difficult task for a single country

c) very expensive and complicated task

18) Programmes of space exploration are conducted between ... .

a) India, Russia, Sweden and other countries

b) Austria, France, Switzerland and other countries

c) Russia, Argentina, India, France and other countries

19) BriGepute nmpenioxkeHne, He COOTBETCTBYIOIIEE COJIEPIKaHUIO TEKCTa!

a) Everyone is interested in Russia-USA cooperation in space exploration.

b) The development of new sources of power is one of the examples of scientific research.

c) Nobody is interested in Russia-USA cooperation in space exploration.

20) BriOepure mpenoxkeHue, COOTBETCTBYIOIIEE COAEPKAHUIO TEKCTa:

a) Scientific ventures of space exploration are a sign of mutual trust but they can’t strengthen peace.
b) Scientific programmes of space exploration are a sign of mutual trust and human cooperation.

¢) Scientific ventures of space exploration can’t strengthen peace.

I1. Becena no tTeme “The Russian Federation” (Bec — 0,2).
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Buaer Ne 9
I. Tect Ne 9 (Bec Bompoca — 0,04). -
Bvibepume npasunvhwiii 6apuanm omeema:
1) They always ... most of their products on the home market.
a) sells b) have sold c) are selling d) sell

2) Sometimes he publishes his articles in the Financial Times, ... ?

a) don’t he b) isn’t he c¢) doesn’t he d) aren’t they

3) “Usually you type your essays.” — “Yes, but today I ... it. Something’s wrong with my computer.’

a) write b) am writing C) writes d) wrote

4) ... she ever ... of changing her job?

a) did ... think b) does ... think c¢) have ... thought d) has ... thought
5) Our Marketing Director made us ... this specialized exhibition.

a) visit b) to visit C) visiting d) visited

6) The ... method is very effective.

a) describing b) described c) describe d) to describe

7) He likes to do things without being disturbed.

a) OH FOOUT 3aHUMATHCS JIeTITaMHU TaK, YTOOBI HUKOTO HE OECTIOKOUTH.

b) OH nr0OUT 3aHUMATHCS JICTaMH TaK, YTOOBI €r0 He OCCITOKOMITH.

¢) OH moOUT 3aHUMATHCA JIeJIaMu TaK, YTOOBI BCE O HEM OECTTOKOMIIHCH.

8) Mike is ... boy in the group.

a) the cleverest b) the most clever C) cleverer d) more clever

9) The telegram ... by seven.

a) will have delivered b) will deliver c) will have been delivered d) had delivered

10) As I live far from the Institute I ... get up early.

a) have to b) must to C) can d) may

b
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Hpoqmume cmamoio.”

LAKE BAIKAL “UNUSUALLY CLEAN”

Novosibirsk (RIA Novosti) — Researches exploring the depths of Siberia’s Lake Baikal have found that
its unique ecosystem has kept the water cleaner than previously thought, despite industrial waste.

The worst polluter (ucrounuk 3arpsizaenusi) of the world’s deepest and oldest lake is a large pulp mill
(umemtrono3H0-0yMaxcHbIii komMOuHat) on Baikal’s southern shore. During recent mini-submarine dives
(morpy>xenus), scientists have been taking deep-water samples near the mill, to assess (omeHHBaTH)
pollution levels.

“Dives have shown that Baikal is a unique ecosystem that keeps itself in very good shape,” the vice
president of the Baikal preservation foundation told RIA Novosti.

Samples (o6pasupi) gathered by the Mir-1 and Mir 1 mini-submarines will undergo (to undergo -
nojBepratbes) extensive study over a period of several years, Mikhail Borizin said.

Dr. Mikhail Grachyov, an expert on the evolution of the lake’s flora and fauna, said that Baikal
contains organisms that naturally absorb (to absorb - nornomarts) crude oil.

The lake has been the focus of major environmental discussions in recent years, with change to an oil
pipeline route that was set to pass near Baikal’s shores.

The Baikal Pulp Mill, built in the mid-1960s, is owned by Continental Management, a subsidiary of
billionaire Oleg Deripaska’s industrial conglomerate Basic Element. The mill plans to switch to a
closed water cycle by September 10.

Baikal, a UNESCO World Heritage (macmeaue) site, holds around 20 percent of the planet’s
freshwater.

Buibepume npasunvruili 6apuanm omeema:.

11) The article is headlined ... .

a) Lake Baikal “unusually deep”

b) Lake Baikal “unusually clean”

c) Lake Baikal “unusually unclean”

12) The article is about ... .

a) the Baikal Pulp Mill operating on its shores

b) the Baikal preservation foundation

c) the present condition of the lakes flora and fauna found by environmental researches
13) The author starts by telling the reader that ... .

a) despite industrial waste the unique ecosystem has kept Baikal’s water cleaner

b) the unique ecosystem has failed to keep Baikal’s water cleaner

c) Baikal organisms absorb crude oil and industrial waste

14) According to the text ... .

a) Baikal doesn’t contain organisms that naturally absorb crude oil

b) Baikal itself can keep its ecosystem

c) it was decided to grow some microorganisms in order to keep Baikal in very good shape

15) In conclusion it is stated that ... .

a) Baikal is a subsidiary of the industrial conglomerate Basic Element
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b) one more pulp mill will be built on Baikal shores
c¢) Baikal holds around 20 percent of the planet’s freshwater

IIpoumume mexcm:
OUR PLANET EARTH

Today, our planet is in serious danger. Acid rains, global warming, air and water pollution,
overpopulation are the problems that threaten human life on Earth.

Our forests are disappearing because they are cut down or burnt. If this trend continues, one day we
won't have enough oxygen to breathe.

The seas are in danger. They are filled with poison: industrial and nuclear waste, chemical fertilisers
and pesticides.

Every ten minutes one kind of animal, plant or insect dies out for ever. If nothing is done about it, one
million species that are alive today may soon become extinct.

Air pollution is another serious problem. In Cairo just breathing the air is dangerous — equivalent to
smoking two packs of cigarettes a day. The same holds true for many Russian cities.

Factories emit tons of harmful chemicals. These emissions have disastrous consequences for our
planet. They are the main reason for the greenhouse effect and acid rains.

Fortunately, it's not too late to solve these problems. We have the time, the money and even the
technology to make our planet a better, cleaner and safer place. We can plant trees and create parks for
endangered species. We can recycle litter. We can support green parties and put pressure on those in
power. Together we can save the planet and all of us with it.

Onpeoenume, aeniaemcs au ciedyloujee 8blCKa3bleaHue:

a) UICTUHHBIM b) noXxHBIM C) B TEKCTE HET MH(MOpMAITUH.

16) Today, our planet is in so serious danger that we can do nothing about it.
17) The air in many Russian cities is as dangerous as in Cairo.
Buvibepume npasunvHbulii 6apuanm omeema

18) Extinction is ... .

a) for ever b) for a while c) for a long time

19) Acid reins are caused by ... .

a) factories emissions b) extinction of the seas c) global warming
20) B tekcte BoIpaxkenue greenhouse effect mepeBoaures kak

a) IefCcTBUS TTAPTHH 3€JICHBIX

b) a3 pexTrBHBIE MEPOTIPHUATHS 1O 03ETCHEHUIO JOMOB

C) MapHUKOBBIN AP ekt

I1. Becena no teme “Moscow” (Bec — 0,2).

Buer Ne 10
I. Tect Ne 10 (Bec Bompoca — 0,04).
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Buvibepume npasunvhuill 6apuanm omeema:

1) The ... method is very effective.

a) to describe b) describe c) described d) describing

2) Mike is ... boy in the group.

a) more clever b) cleverer c) the most clever d) the cleverest

3) “Usually you type your essays.” — “Yes, but today I ... it. Something’s wrong with my computer.”
a) wrote b) writes C) am writing d) write

4) They always ... most of their products on the home market.

a) sell b) are selling ¢) have sold d) sells

5) He insisted on ... the contract immediately.

a) signing b) the signing c) being signed d) having been signed

6) Sometimes he publishes his articles in the Financial Times, ... ?

a) aren’t they b) doesn’t he c) isn’t he d) don’t he

7) ... she ever ... of changing her job?

a) has ... thought b) have ... thought c) does ... think d) did ... think
8) As I live far from the Institute I ... get up early.

a) may b) can C) must to d) have to

9) Our Marketing Director made us ... this specialized exhibition.

a) visited b) visiting C) to visit d) visit

10) The telegram ... by seven.

a) had delivered b) will have been delivered c) will deliver d) will have delivered
Hpoumume cmamsviro.”

Large-scale military exhibition opens in Malaysia

A large-scale international exhibition of arms and military equipment, Defence (o6opona) Services
Asia (DSA)-2010, opened on Monday in Malaysia's capital, Kuala Lumpur, bringing together arms
producers and suppliers from all over the world.

DSA, which the organizers say is one of the fifth largest arms exhibitions in the world and the largest
in Asia, is being held for the 12th time.

"We are living in a very difficult time, which poses (to pose — mpencTaBisTh, BBIABHraTh) NEew
challenges (mpoGnemsbr), such as a terrorism threat (yrposa). All these problems require to be

80



responded (to respond — orBeuatp) with more and more modern and complicated technologies,"
Malaysian Defense Minister Ahmad Zahid bin Hamidi said during the exhibition's opening ceremony.
More than 700 companies from over 30 countries are taking part in the exhibition. Russia, a major
arms producer, is also involved, with its participation organized by state technology corporation
Rostekhnologii. The country will show more than 260 military products, including elements of the
Smerch multiple rocket launcher - a fighting vehicle and a transporter loader.

The Russian Federal Service for Military and Technical Cooperation said in a statement it considered
participation in the exhibition "an important stage in the development and strengthening of Russia’s
business relations with foreign partners in the sphere of military-technical cooperation.”

A two-day international defense and security conference organized by the Malaysian Defense Ministry
will take place during the exhibition, which will run until April 22.

Buvibepume npasunvrwiii 6apuanm omeema.
11) The article is about ... .

a) terrorism threat
b) military cooperation between Russia and Malaysia
c) DSA exhibition

12) The author starts by writing that ... .

a) DSA exhibition brought together arms producers from Asia
b) Malaysia’s capital, Kuala Lumpur is the centre of producing military equipment
c) arms producers from different countries in the world came to the DSA exhibition

13) According to Malaysian Defense Minister new threats and problems ... .

a) require more and more exhibitions
b) make us develop new complex technologies
c) have been caused by modern and complicated technologies

14) The article goes on to say that Russia ... .

a) participates in the exhibition as well as other countries
b) is going to organize its own military exhibition being a major arms producer
c) does not carry cooperation in the sphere of military-technical cooperation

15) In conclusion the author writes that ... .

a) a defense and security conference will be held during the exhibition

b) Malaysian Defense Minister will miss a defense and security conference
c¢) more than 700 companies are taking part in the exhibition

IIpoumume mexcm:
"SMOG" WAS INVENTED IN BRITAIN

It was in Britain that the word "smog" was first used (to describe a mixture of smoke and fog). As the
world's first industrialized country, its cities were the first to suffer this atmospheric condition. In the
19th century London's "pea-soupers" (thick smogs) became famous through descriptions of them in the
works of Charles Dickens and in the Sherlock Holmes stories. The situation in London reached its
worst point in 1952.

At the end of that year a particularly bad smog, which lasted for several days caused about 6,000
deaths.
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Water pollution was also a problem. In the 19th century it was once suggested that the Houses of
Parliament should be wrapped in enormous wet sheets to protect those inside from the awful smell of
the River Thames. People who fell into the Thames were rushed to hospital to have their stomachs
pumped out!

Then, during the 1960s and 1970s, laws were passed which forbade the heating of homes with open
coal fires in city areas and which stopped much of the pollution from factories. At one time, a scene of
fog in a Hollywood film was all that was necessary to symbolize London. This image is now out of
date, and by the end of the 1970s it was said to be possible to catch fish in the Thames outside
Parliament.

However, as in the rest of western Europe, the great increase in the use of the motor car in the last
quarter of the 20th century has caused an increase in a new kind of air pollution. This problem has
become so serious that the television weather forecast now regularly issues warnings of “poor air
quality”. On some occasions it is bad enough to prompt official advice that certain people (such as
asthma sufferers) should not even leave their houses, and that nobody should take any vigorous
exercise, such as jogging, out of doors.

16) 3aBepimte npeaoxkenue: Britain cities suffered atmospheric condition because ... .
a) there were too many industrial enterprises in Britain

b) there were a lot of agricultural districts there

c) Charles Dickens described thick smogs in his works

Onpedenume, a6nsemcs au ciedyioujee npeolodiceHue:
a) UICTUHHBIM b) nmoxxHBIM C) B TeKCTE HET HH(OpPMAIIHH.

17) Britain laws didn’t permit the heating of homes with open coal fires in the city areas.
18) Now it’s all that is necessary to symbolize London in a Hollywood film is a scene of fog.

Buvibepume npasunvruiil 6apuanm omeema:
19) A new kind of air pollution in Europe is ... .

a) the use of coal while heating the homes
b) the use of wet sheets
c) the use of the motor car

20) It was suggested to wrap the Houses of Parliament in wet sheets in order ... .
a) to protect it from the flood of the River Thames
b) to protect it from water pollution

c) to protect it from the harmful smell
I1. Becena o Teme “Rubtsovsk” (Bec — 0,2).
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IIpunoxenue b

MuHHCTEPCTBO HAyKH U BhIcIIero oopazoanus Poccuiickoit denepannu

Py61oBckuii MHyCTpUAIbHBIN MHCTUTYT ((puinai) dheaepalbHOro rocyJapcTBEHHOTO

OIOXKETHOT'0 00pa30BaTEILHOIO YUPEKACHUS BBICILIET0 00pa3oBaHus «AJTaicKui
roCyAapCTBEHHbIM TeXxHU4YecKkui yHuepcuret uM. U. U. ITlonzyHnosa»

METOINYECKHUE PEKOMEHJIALIUN
UHOCTPAHHBIN A3bIK B IPO®ECCUOHAJIBHOU JEATEJbHOCTHU

O JTNCIHUIIVIMHE

UHOCTPAHHBIN A3BIK B IPO®ECCUOHAJIBHOA JEATEJbHOCTHU

Hns cneruanpaocTr: 13.02.07 DnekrpocHabkeHMe (110 OTPACIISIM)

®opma oOydeHue: ouHas

Py6uoBck, 2022
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METOAUYECKHE PEKOMEHJAIIMU CTYAEHTAM I10 TIOAI'OTOBKE
K IPAKTHUYECKHUM 3AHATUAM

[IpakTryeckue 3aHSATUS - OJIHA U3 OCHOBHBIX ()OPM OpraHM3alMy y4eOHOro mpolecca,
MPEICTaBIIAIONIAS COOO0M KOJJIEKTUBHYIO pabOTy MO PYKOBOJICTBOM IIPEIO1aBaTEeIs.
[lenb mpakTUYeCKUX 3aHATHI 3aKIIOYaeTCsl B 3aKpEIJICHMM MaTepuaia 1o Haubosee
BOXHBIM TeMaM U BOIpoOcaM Kypca, yMeHHil paboTel ¢ y4eOHOW W Hay4YHOU
JUTEPATYPOU, CIOBAPSAMH U PA3IUYHBIMUA TEKCTAMM.

Ha mnpaktuueckux 3aHATHSX JKeNaTeldbHbl IUCKYCCHUU, KOJJICKTUBHBIE OOCYXICHUS
BO3HHUKIIMX MpoOJeM M MyTed uX paspemeHus. MoryT ObITh 3aciayllaHbl JOKIaAbl U
cooOmIeHus: cTyaeHTOB. VIMEHHO 371eCh CTYAEHTHl MO3HAIOT T'PAMMATUKU M JIEKCUKHU
AHTJIMHCKOrO S3bIKA, YYaTCs MPAaBUJIBHO 33JaBaTh BOMPOCHI M JaBaTh HAa HUX OTBETHI.
Kpome Bcero mnpoudero, mNpakTUYECKHE 3aHATHUS ABISIIOTCA (OPMON KOHTPOJIS
npernojaBaresns 3a y4eOHbIM IPOLECCOM B TPYIIIE, YCIEBAEMOCThIO U OTHOIIEHUEM K
yuelde Kaxaoro cryjaeHta. CTyeHTbl TPUHUMAIOT y4acThe B KOHTPOJIbHBIX padoTax,
TECTUPOBAHUSX, YCTHBIX OMPOCAX U TIP.

[ToaroToBKa K MPAaKTUYECKUM 3aHSATHUAM BKJIIOYAET B CeOsl Clieayroliee:

- U3yYEHUE COOTBETCTBYIOIINE pa3/ielibl yueOHUKa, y4eOHOTO MOCOOHs, 03HAKOMUTHCS C
IrpaMMaTHYE€CKUM KOMMEHTapHUEM;

- 3ay4YMBAHNE AKTUBHOM JICKCUKH;

- padoTy C pa3INYHBIMU CIIOBAPSMU;

- 3ay4MBaHHUE U IE€pecKa3 TEKCTOB, MOATOTOBKA MOHOJOTMYECKHX M JTUAJIOTHYECKUX
BBICKAQ3bIBAHUIM;

- BBIIIOJIHEHHUE YIIPAXKHEHUH KaXA0ro pasjiesa B yCTHOM U TUCbMEHHOM (hopMme.
AKTHUBHOE 3aMHTEPECOBAHHOE Y4yacTUE CTYJACHTOB B IPAKTUYECKOHM padore
crocoOcTByeT 0oJiee TIIyOOKOMY M3YyUYEHHIO COAEpP>KaHUS Kypca, MOBBIIMICHUIO YPOBHS
KyJbTYphl OYyIyIIMX CHEHUATUCTOB M (OPMHPOBAHHUIO OCHOB MNPO(eCcCHOHATBHOTO
MBIIILJICHUS.
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